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General  Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question
Paper.

2. Please check the Question Paper to verify that the total pages and total
number of questions contained in the Question Paper are the same as those
printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. For the objective type of questions, you have to choose any one of the four
alternatives given in the question, i.e., (A), (B), (C) and (D) and indicate your
correct answer in the Answer-Book given to you.

4. Making any identification mark in the Answer-Book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the
candidate.

5. (a) The Question Paper is Bilingual, i.e., English and Hindi. However, if you
wish, you can answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada,
Telugu, Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali,
Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language chosen to answer in the box
provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
questions will be yours only.
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6. Candidate will not be allowed to take Calculator, Mobile Phone, Bluetooth,
Earphone or any such electronic devices in the Examination Hall.

7. In case of any doubt or confusion in the Question Paper, the English version
will prevail.

8. Write your Question Paper Code No. 69/MAY/4, Set u on the Answer-Book.

gm‘mÝ¶ AZwXoe …

1. narjmWu àíZ-nÌ Ho$ nhbo n¥ð> na AnZm AZwH«$‘m§H$ Adí¶ {bI|&

2. H¥$n¶m àíZ-nÌ H$mo Om±M b| {H$ àíZ-nÌ Ho$ Hw$b n¥ð>m| VWm àíZm| H$s CVZr hr g§»¶m h¡ {OVZr àW‘ n¥ð> Ho$
g~go D$na N>nr h¡& Bg ~mV H$s Om±M ^r H$a b| {H$ àíZ H«${‘H$ ê$n ‘| h¢&

3. dñVw{Zð> àíZm| _o§ AmnH$mo Mma {dH$ënm| (A), (B), (C) VWm (D) _| go H$moB© EH$ CÎma MwZZm h¡ VWm Xr JB©
CÎma-nwpñVH$m _| Amn ghr CÎma {bI|Ÿ&

4. CÎma-nwpñVH$m ‘| nhMmZ-{M• ~ZmZo AWdm {Z{X©ï> ñWmZm| Ho$ A{V[aº$ H$ht ̂ r AZwH«$‘m§H$ {bIZo na narjmWu H$mo
A¶mo½¶ R>ham¶m OmEJm&

5. (H$) n«íZ-nÌ Ho$db A§J«oOr/{hÝXr ‘mÜ¶‘ ‘| h¡& {’$a ^r, ¶{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$ ^mfm ‘|
CÎma Xo gH$Vo h¢ …

A§J«oOr, {hÝXr, CXÿ©, n§Om~r, ~§Jbm, V{‘b, ‘b¶mb‘, H$Þ‹S>, VobwJy, ‘amR>r, C{‹S>¶m, JwOamVr, H$m|H$Ur,
‘{Unwar, Ag{‘¶m, Zonmbr, H$í‘rar, g§ñH¥$V Am¡a {gÝYr&

H¥$n¶m CÎma-nwpñVH$m ‘| {XE JE ~m°³g ‘| {bI| {H$ Amn {H$g ^mfm ‘| CÎma {bI aho h¢&

(I) ¶{X Amn {hÝXr Ed§ A§J«oOr Ho$ A{V[aº$ {H$gr AÝ¶ ̂ mfm ‘| CÎma {bIVo h¢, Vmo àíZm| H$mo g‘PZo ‘| hmoZo dmbr
Ìw{Q>¶m|/Jb{V¶m| H$s {Oå‘oXmar Ho$db AmnH$s hmoJr&

6. narjmWu H$mo narjm hm°b ‘| H¡$ëHw$boQ>a, ‘mo~mBb ’$moZ, ãbyQy>W, B¶a’$moZ O¡go {H$gr ^r Bbo³Q´>m°{ZH$ CnH$aU H$mo
bo OmZo H$s AZw‘{V Zht h¡&

7. àíZ-nÌ ‘| {H$gr ^r àH$ma Ho$ g§Xoh AWdm Xþ{dYm H$s pñW{V ‘| A§J«oOr AZwdmX hr ‘mÝ¶ hmoJm&

8. AnZr CÎma-nwpñVH$m na àíZ-nÌ H$m H$moS> Z§0 69/MAY/4, goQ u {bI|&
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GEOGRAPHY

^yJmob
(316)

Time : 3 Hours ] [ Maximum Marks : 80

g‘¶ … 3 KÊQ>o ] [ nyUmªH$ … 80

Note  : (i) This question paper consists of 46 questions in all.

(ii) All questions are compulsory.

(iii) Marks are given against each question.

(iv) (a) Question Nos. 1 to 16—Multiple choice-type questions (MCQs)
carrying 1 mark each. Select and write the most appropriate option
out of the four options given in each of these questions.

(b) Question Nos. 17 to 20—Objective-type map-based questions
carrying 1 mark each. Questions for visually impaired candidate in
lieu of Question Nos. 17–20 have been given. You have to attempt
only one of the given choices in such questions. Question Nos.
21 to 30—Objective-type questions carrying 2 marks each (with
2/4 sub-parts of 1 mark each). Attempt these questions as per the
instructions given for each of the questions 21–30.

(c) Question Nos. 31 to 40—Very short questions carrying 2 marks
each to be answered in the range of 30 to 50 words. Question Nos.
36 and 37 are map-based questions. Questions for visually
impaired candidate in lieu of Question Nos. 36 and 37 have been
given.

(d) Question Nos. 41 to 45—Short answer-type questions carrying
3 marks each to be answered in the range of 50 to 80 words.

(e) Question No. 46—Long answer-type question carrying 5 marks to be
answered in the range of 80 to 120 words.

{ZX}e … (i) Bg àíZ-nÌ ‘| Hw$b 46 àíZ h¢&

(ii) g^r àíZ A{Zdm¶© h¢&

(iii) àË¶oH$ àíZ Ho$ A§H$ Cg àíZ Ho$ gm‘Zo {XE JE h¢&
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(iv) (a) àíZ g§»¶m 1 go 16—~hþ{dH$ënr¶ àH$ma Ho$ àíZ (MCQs), Omo àË¶oH$ 1 A§H$ H$m h¡&
àË¶oH$ àíZ ‘| {XE JE Mma {dH$ënm| ‘| go g~go Cn¶wº$ {dH$ën H$m M¶Z H$a| Am¡a {bI|&

(b) àíZ g§»¶m 17 go 20—dñVw{Zð> àH$ma Ho$ ‘mZ{MÌ na AmYm[aV àíZ, Omo àË¶oH$ 1 A§H$ H$m
h¡& Ñ{ï>~m{YV narjm{W©¶m| Ho$ {bE àíZ g§»¶m 17 go 20 Ho$ ñWmZ na àíZ {XE JE h¢&
AmnH$mo Eogo àíZm| ‘| {XE JE {dH$ënm| ‘| go Ho$db EH$ H$m hr CÎma XoZm h¡& àíZ g§»¶m
21 go 30—dñVw{Zð àH$ma Ho$ àíZ, Omo àË¶oH$ 2 A§H$ H$m h¡ (1 A§H$ Ho$ 2/4 Cn^mJm| Ho$
gmW)& àË¶oH$ àíZ Ho$ {bE {XE JE {ZX}em| Ho$ AZwgma BZ àíZm| (21 go 30) Ho$ CÎma X|&

(c) àíZ g§»¶m 31 go 40—2 A§H$ Ho$ A{V bKyÎmar¶ àH$ma Ho$ àíZ, {OZHo$ CÎma 30 go 50

eãXm| ‘| XoZo h¢& àíZ g§»¶m 36 Ed§ 37 ‘mZ{MÌ na AmYm[aV àíZ h¢& Ñ{ï>~m{YV narjm{W©¶m|
Ho$ {bE àíZ g§»¶m 36 Ed§ 37 Ho$ ñWmZ na àíZ {XE JE h¢&

(d) àíZ g§»¶m 41 go 45—3 A§H$ Ho$ bKyÎmar¶ àH$ma Ho$ àíZ, {OZHo$ CÎma 50 go 80 eãXm|
‘| XoZo h¢&

(e) àíZ g§»¶m 46—5 A§H$ H$m XrK©-CÎmar¶ àH$ma H$m àíZ, {OgH$m CÎma 80 go 120 eãXm|
‘| XoZm h¡&

1. Which of the following is an example of a continental plateau? 1

(A) Greenland plateau (B) Mexican plateau

(C) Bolivian plateau (D) Patagonia plateau

{ZåZ{b{IV ‘| go H$m¡Z-gm ‘hmÛrnr¶ nR>ma H$m EH$ CXmhaU h¡?

(A) J«rZb¢S> nR>ma (B) ‘op³gH$mo H$m nR>ma

(C) ~mobr{d¶m H$m nR>ma (D) noQ>mJmo{Z¶m H$m nR>ma

(1) Answers of all questions are to be given in the Answer-Book given to you.

g^r àíZm| Ho$ CÎma AmnH$mo Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&
(2) 15 minutes time has been allotted to read this question paper. The

question paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30
p.m., the students will read the question paper only and will not write any
answer on the Answer-Book during this period.

Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {‘ZQ> H$m g‘¶ {X¶m J¶m h¡& àíZ-nÌ H$m {dVaU Xmonha ‘|
2:15 ~Oo {H$¶m OmEJm& 2:15 ~Oo go 2:30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a Bg Ad{Y
Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo&
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2. Hwang Ho Plain of China is an example of which type of plain? 1

(A) Eroded (B) Structural

(C) Depositional (D) Delta

MrZ H$m ˆm§J hmo ‘¡XmZ {H$g àH$ma Ho$ ‘¡XmZ H$m CXmhaU h¡?

(A) Ana{XV (B) g§aMZmË‘H$

(C) {ZjonUmË‘H$ (D) S>oëQ>mB©

3. Which of the following is the most important cause of soil erosion? Select
the most appropriate option. 1

(A) Transportation (B) Precipitation

(C) Condensation (D) Permeability

{‘Å>r Ho$ H$Q>md H$m {ZåZ{b{IV ‘| go H$m¡Z-gm g~go à‘wI H$maU h¡? g~go Cn¶wº$ {dH$ën H$m
M¶Z H$s{OE&

(A) Andmh (B) df©U

(C) g§KZZ (D) nmaJå¶Vm

4. Read the following statements related to continental rise carefully and
choose the correct option : 1

I. It is the link between the continental slope and the abyssal plain.

II. Seafood is obtained entirely from the continental shelf.

III. It is a landform which formed in the oceans from sequences of
continental mass.

IV. The slope gradient of the continental rise is less than that of
continental slope.

(A) Only I, II and III are correct

(B) Only I, III and IV are correct

(C) Only I, II and IV are correct

(D) Only II, III and IV are correct



316/MAY/208A 6

‘hmÛrnr¶ C^ma go gå~pÝYV {ZåZ{b{IV H$WZm| H$mo Ü¶mZnyd©H$ n{‹T>E Am¡a ghr {dH$ën H$m M¶Z
H$s{OE :

I. ¶h ‘hmÛrnr¶ T>mb Am¡a {dVb ‘¡XmZ Ho$ ~rM H$s H$‹S>r h¡&

II. g‘wÐr ^moOZ nyar Vah ‘hmÛrnr¶ Vb (eoë’$) go àmá hmoVm h¡&

III. ¶h ‘hmÛrnr¶ nXmWm] Ho$ AZwH«$‘m| go ‘hmgmJam| ‘| ~Zm {Zjo{nV ñWb ê$n h¡&

IV. ‘hmÛrnr¶ C^ma H$s T>mb àdUVm ‘hmÛrnr¶ T>mb H$s VwbZm ‘| H$‘ hmoVr h¡&

(A) Ho$db I, II Am¡a III ghr h¢

(B) Ho$db I, III Am¡a IV ghr h¢

(C) Ho$db I, II Am¡a IV ghr h¢

(D) Ho$db II, III Am¡a IV ghr h¢

5. Which of the following seas has higher salinity than normal? 1

(A) Bering Sea (B) Baltic Sea

(C) Red Sea (D) Japan Sea

{ZåZ{b{IV ‘| go {H$g gmJa H$s bdUVm gm‘mÝ¶ go A{YH$ h¡?

(A) ~o[a¨J gmJa (B) ~mpëQ>H$ gmJa

(C) bmb gmJa (D) OmnmZ gmJa

6. Choose the correct option related to the characteristics of polar winds. 1

(A) In the Northern Hemisphere, their direction is from West to North-East.

(B) These winds move from subpolar regions towards the poles.

(C) These are known as trade winds.

(D) These are extremely cold, dry and stable winds.

Y«wdr¶ ndZm| H$s {deofVmAm| go gå~pÝYV ghr {dH$ën H$m M¶Z H$s{OE&

(A) CÎmar JmobmY© ‘| BZH$s {Xem npíM‘ go CÎma-nyd© H$s Amoa hmoVr h¡&

(B) ¶o CnY«wdr¶ joÌm| go Y«wdm| H$s Amoa MbVr h¢&

(C) BÝh| ì¶mnm[aH$ ndZm| Ho$ Zm‘ go OmZm OmVm h¡&

(D) ¶o AË¶§V R>§S>r, ewîH$ VWm pñWa ndZ| hmoVr h¢&
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7. Match Column—I with Column—II and choose the correct option : 1

Column—I Column—II

(a) Tropical hot and humid (i) Mediterranean

(b) Dry climate (ii) Monsoon

(c) Warm temperate (iii) Tundra

(d) Cold snow forest (iv) Steppes

(v) Taiga

Options :

(A) (a)—(ii), (b)—(iv), (c)—(i), (d)—(v)

(B) (a)—(ii), (b)—(iv), (c)—(v), (d)—(i)

(C) (a)—(iv), (b)—(ii), (c)—(iii), (d)—(v)

(D) (a)—(ii), (b)—(v), (c)—(i), (d)—(iii)

H$m°b‘—I H$m {‘bmZ H$m°b‘—II go H$s{OE Am¡a ghr {dH$ën H$m M¶Z H$s{OE :

H$m°b‘—I H$m°b‘—II

(a) CîUH${Q>~§Yr¶ J‘© Am¡a AmÐ© (i) ^y‘Ü¶gmJar¶

(b) ewîH$ Obdm¶w (ii) ‘mZgyZr

(c) J‘© g‘erVmoîU (iii) Qw>§S´>m

(d) erV {h‘ g{hV dZr¶ (iv) ñQ>onr

(v) Q>¡Jm

{dH$ën :

(A) (a)—(ii), (b)—(iv), (c)—(i), (d)—(v)

(B) (a)—(ii), (b)—(iv), (c)—(v), (d)—(i)

(C) (a)—(iv), (b)—(ii), (c)—(iii), (d)—(v)

(D) (a)—(ii), (b)—(v), (c)—(i), (d)—(iii)
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8. Choose the correct option related to the group of tributaries of Indus River. 1

(A) Kosi, Beas, Gandak (B) Jhelum, Beas, Sutlej

(C) Jhelum, Gandak, Ghaghra (D) Gandak, Ghaghra, Sutlej

qgYw ZXr H$s ghm¶H$ Z{X¶m| Ho$ g‘yh go gå~pÝYV ghr {dH$ën H$m M¶Z H$s{OE&

(A) H$mogr, ã¶mg, J§S>H$ (B) Pob‘, ã¶mg, gVbO

(C) Pob‘, J§S>H$, KmKam (D) J§S>H$, KmKam, gVbO

9. Which of the following factors does not affect the climate of India? 1

(A) Landform (B) Distance from sea

(C) Divergence of plates (D) Latitudinal position

{ZåZ{b{IV ‘| go H$m¡Z-gm H$maH$ ^maV H$s Obdm¶w H$mo à^m{dV Zht H$aVm h¡?

(A) ^y-AmH¥${V (B) g‘wÐ go Xÿar

(C) ßboQ>m| H$m {dMbZ (D) Ajm§er¶ pñW{V

10. Two statements are given below as Assertion (A) and Reason (R). Read both
the statements carefully and choose the correct option : 1

Assertion (A) :

To pay tribute to the bravery of forest personnel, the Government of
India celebrates ‘Forest Martyrs Day’ on 11 September.

Reason (R) :

Awareness is an important measure for environmental protection.

(A) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(B) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(C) (A) is correct and (R) is incorrect

(D) (A) is incorrect and (R) is correct
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ZrMo Xmo H$WZ {XE JE h¢& ¶o A{^H$WZ (A) Am¡a H$maU (R) h¢& XmoZm| H$WZm| H$mo Ü¶mZnyd©H$ n{‹T>E
Am¡a ghr {dH$ën H$m M¶Z H$s{OE :

A{^H$WZ (A) :

dZH${‘©¶m| Ho$ em¡¶© H$mo lÕm§O{b XoZo Ho$ {bE ^maV gaH$ma 11 {gVå~a H$mo "dZ ehrX {Xdg'
‘ZmVr h¡&

H$maU (R) :

n¶m©daU g§ajU Ho$ {bE OmJê$H$Vm EH$ ‘hÎdnyU© Cnm¶ h¡&

(A) XmoZm| (A) Am¡a (R) ghr h¢& bo{H$Z (R), (A) H$s ghr ì¶m»¶m Zht h¡

(B) XmoZm| (A) Am¡a (R) ghr h¢& Am¡a (R), (A) H$s ghr ì¶m»¶m h¡

(C) (A) ghr h¡ Am¡a (R) JbV h¡

(D) (A) JbV h¡ Am¡a (R) ghr h¡&

11. Which of the following rivers has the largest catchment area? 1

(A) Godavari (B) Krishna

(C) Kaveri (D) Narmada

{ZåZ{b{IV ‘| go {H$g ZXr H$m ObJ«hU joÌ g~go A{YH$ h¡?

(A) JmoXmdar (B) H¥$îUm

(C) H$mdoar (D) Z‘©Xm

12. Choose the correct option related to the major Kharif crops from the
following crops. 1

(A) Rice, Mustard, Peas (B) Mustard, Maize, Sugarcane

(C) Sugarcane, Mustard, Cotton (D) Rice, Maize, Cotton

{ZåZ{b{IV ’$gbm| ‘| go Iar’$ H$s à‘wI ’$gbm| go gå~pÝYV ghr {dH$ën H$m M¶Z H$s{OE&

(A) YmZ, gagm|, ‘Q>a (B) gagm|, ‘¸$m, JÞm

(C) JÞm, gagm|, H$nmg (D) YmZ, ‘¸$m, H$nmg

13. Which of the following is a ferrous metallic mineral? 1

(A) Copper (B) Pyrite

(C) Tin (D) Zinc
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{ZåZ{b{IV ‘| go H$m¡Z-gm bm¡h YmpËdH$ I{ZO h¡?

(A) Vm±~m (B) nmBamBQ>

(C) {Q>Z (D) qOH$

14. The easternmost terminal station of the East-West Corridor is

(A) Itanagar (B) Kohima

(C) Silchar (D) Dispur 1

nyd©-npíM‘ J{b¶mao H$m g~go nydu Q>{‘©Zb ñQ>oeZ h¡

(A) B©Q>mZJa (B) H$mo{h‘m

(C) {gëMa (D) {Xgnwa

15. Hindi language belongs to which of the following language families? 1

(A) Austric (B) Sino-Tibetan

(C) Dravidian (D) Indo-Aryan

{hÝXr ^mfm H$m gå~ÝY {ZåZ{b{IV ‘| go {H$g ^mfm n[adma go h¡?

(A) Am°pñQ´>H$ (B) MrZr-{Vã~Vr

(C) Ð{d‹S> (D) B§S>mo-Am¶©Z

16. Which of the following States secured the highest rank in providing quality
of education? 1

(A) Jharkhand (B) West Bengal

(C) Kerala (D) Odisha

{ZåZ{b{IV ‘| go {H$g amÁ¶ Zo {ejm H$s JwUdÎmm àXmZ H$aZo ‘| gdm}ƒ ñWmZ àmá {H$¶m h¡?

(A) PmaI§S> (B) npíM‘ ~§Jmb

(C) Ho$ab (D) Amo{S>em
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Note : Study the given map carefully and answer the map-based questions

(Question Nos. 17, 18, 19 and 20) :

{ZX}e : {XE JE ‘mZ{MÌ H$m Ü¶mZnyd©H$ AÜ¶¶Z H$s{OE Am¡a ‘mZ{MÌ na AmYm[aV àíZ g§»¶m 17, 18,

19 Ed§ 20 Ho$ CÎma Xr{OE :

17. Identify the major mountain marked ‘A’ on the map. 1

(A) Rocky (B) Ural

(C) Andes (D) Atlas
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‘mZ{MÌ na A§{H$V ‘A’ à‘wI nd©V H$s nhMmZ H$s{OE&

(A) am°H$s (B) ¶yamb

(C) E§S>rO (D) EQ>bg

18. Identify the warm water current marked ‘B’ on the map. 1

(A) Norway (B) Alaska

(C) Agulhas (D) Gulf Stream

‘mZ{MÌ na A§{H$V ‘B’ J‘© ObYmam H$s nhMmZ H$s{OE&

(A) Zm°d} (B) AbmñH$m

(C) AJwëhmg (D) Jë’$ ñQ´>r‘

19. Identify the evergreen rain forest biome marked ‘C’ on the map. 1

(A) Nile Basin (B) Congo Basin

(C) Volga Region (D) Amazon Region

‘mZ{MÌ na A§{H$V ‘C’ gXm~hma dfm©dZ Ordmo‘ H$s nhMmZ H$s{OE&

(A) Zrb ~o{gZ (B) H$m§Jmo ~o{gZ

(C) dmoëJm joÌ (D) A‘oµOZ joÌ

20. Identify the temperate grassland biome marked ‘D’ on the map. 1

(A) Velds (B) Pampas

(C) Downs (D) Prairies

‘mZ{MÌ na A§{H$V ‘D’ g‘erVmoîU Kmg ‘¡XmZ Ordmo‘ H$s nhMmZ H$s{OE&

(A) doëS²>g (B) n§nmg

(C) S>mCÝg (D) ào¶arO
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Note : The following questions are for Visually Impaired Candidates in lieu of

Question Nos. 17, 18, 19 and 20.

{ZX}e : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©¶m| Ho$ {bE àíZ g§»¶m 17, 18, 19 Am¡a 20 Ho$

ñWmZ na h¢&

17. Which of the following mountains is located in Europe? 1

(A) Rocky (B) Ural

(C) Andes (D) Atlas

{ZåZ{b{IV ‘| go H$m¡Z-gm nd©V ¶yamon ‘| pñWV h¡?

(A) am°H$s (B) ¶yamb

(C) E§S>rO (D) EQ>bg

18. Which of the following is the warm water current of the Indian Ocean? 1

(A) Norway (B) Alaska

(C) Agulhas (D) Gulf Stream

{ZåZ{b{IV ‘| go H$m¡Z-gr {hÝX ‘hmgmJa H$s J‘© ObYmam h¡?

(A) Zm°d} (B) AbmñH$m

(C) AJwëhmg (D) Jë’$ ñQ´>r‘>

19. Which of the following is the South American evergreen rain forest biome? 1

(A) Nile Basin (B) Congo Basin

(C) Volga Region (D) Amazon Region

{ZåZ{b{IV ‘| go H$m¡Z-gm X{jU A‘o[aH$m H$m gXm~hma dfm©dZ Ordmo‘ h¡?

(A) Zrb ~o{gZ (B) H$m§Jmo ~o{gZ

(C) dmoëJm joÌ (D) A‘oµOZ joÌ

20. Which of the following temperate grasslands is located in Africa? 1

(A) Steppes (B) Downs

(C) Velds (D) Pampas

{ZåZ{b{IV ‘| go H$m¡Z-gm g‘erVmoîU Kmg ‘¡XmZ A’«$sH$m ‘| pñWV h¡?

(A) ñQ>onrµO (B) S>mC§g

(C) doëS²>g (D) n§nmg
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21. Answer the following questions in 1 or 2 word(s) each : 1×2=2

(a) Oceanography is a sub-branch of which branch of geography?

(b) Write the names of two major geographers who are considered as the
founders of modern geography.

{ZåZ{b{IV àíZm| Ho$ 1 ¶m 2 eãXm| ‘| CÎma Xr{OE :

(H$) g‘wÐ{dkmZ ^yJmob H$s {H$g emIm H$s CnemIm h¡?

(I) Xmo à‘wI ^yJmobdoÎmmAm| Ho$ Zm‘ {b{IE, {OÝh| AmYw{ZH$ ^yJmob H$m g§ñWmnH$ ‘mZm OmVm h¡&

22. Answer the following questions by filling in the blanks with appropriate
words : 1×2=2

(a) The process of breaking and degradation of tools or machines of
erosion by colliding with each other is called _____.

(b) The intensity of exogenous geomorphic processes depends on the type
of rocks and their _____.

{ZåZ{b{IV àíZm| Ho$ CÎma Cn¶wº$ eãXm| Ûmam [aº$ ñWmZm| H$s ny{V© H$aHo$ Xr{OE :

(H$) AnaXZ Ho$ gmYZm| AWdm ¶§Ìm| H$m Amng ‘| Q>H$amH$a Qy>Q>Zo VWm {ZåZ hmoZo H$s {H«$¶m
_____ H$hbmVr h¡&

(I) ~{hO©{ZV ^y-AmH¥${VH$ à{H«$¶mAm| H$s Vrd«Vm MÅ>mZm| Ho$ àH$ma Am¡a CZH$s _____ na {Z^©a
H$aVr h¡&

23. Match Column—I correctly with Column—II : ½×4=2

Column—I Column—II

(Terms) (When does it happen)

(a) Perigee (i) The earth is closest to the sun

(b) Apogee (ii) Equal distance between the sun, moon and earth

(c) Perihelion (iii) The moon’s orbit is farthest from the earth

(d) Aphelion (iv) Moon’s orbit is closest to the earth

(v) The earth is further away from the sun
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H$m°b‘—I H$m ghr {‘bmZ H$m°b‘—II go H$s{OE :

H$m°b‘—I H$m°b‘—II

(nm[a^m{fH$ eãX) (¶h H$~ hmoVm h¡)

(a) Cn^y (no[aOr) (i) n¥Ïdr gy¶© go g~go {ZH$Q> h¡

(b) An^y (AnmoOr) (ii) gy¶©, MÝÐ‘m Am¡a n¥Ïdr Ho$ ~rM g‘mZ Xÿar

(c) Cngm¡a (iii) MÝÐ‘m H$s H$jm n¥Ïdr go g~go A{YH$ Xÿa h¡

(d) Angm¡a (iv) MÝÐ‘m H$s H$jm n¥Ïdr go g~go {ZH$Q> h¡

(v) n¥Ïdr gy¶© go A{YH$ Xÿa h¡

24. Answer the following questions in 1 or 2 word(s) : 1×2=2

(a) The subtropical high-pressure belt is located in the Northern and
Southern Hemispheres between which latitudes?

(b) At which latitude is the subpolar low-pressure belt located in the
Northern and Southern Hemispheres?

{ZåZ{b{IV àíZm| Ho$ CÎma 1 ¶m 2 eãXm| ‘| Xr{OE :

(H$) CnmoîUH${Q>~§Yr¶ Cƒ-Xm~ noQ>r CÎmar Ed§ X{jUr JmobmYm] ‘| {H$Z Ajm§em| Ho$ ‘Ü¶ pñWV h¡?

(I) CnY«wdr¶ {ZåZ-Xm~ noQ>r CÎmar Ed§ X{jUr JmobmYm] ‘| {H$g Ajm§e na pñWV h¡?

25. Read the given paragraph carefully and answer the following questions
in 1 or 2 word(s) each : 1×2=2

Aquatic Ecosystem

On the ocean surface, shallow continental shelves are more productive

than other configurations of ocean floor and open oceans. Open oceans are

the least productive of all aquatic ecosystems. They are like the deserts in

the terrestrial ecosystem. Some of the organisms exclusively live in water

whereas some of the organisms can live in water and on land, i.e., frogs,

crocodiles, hippopotamus, etc. Moreover, some organisms live either in
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freshwater or saline water and some others live in freshwater and saline

water both.

(a) Which oceans are less productive?

(b) Write the names of any two organisms which can live both in water
and on land.

{XE JE AZwÀN>oX H$mo Ü¶mZnyd©H$ n{‹T>E Am¡a {ZåZ{b{IV àíZm| Ho$ CÎma 1 ¶m 2 eãXm| ‘| Xr{OE :

Obr¶ nm[apñW{VH$s V§Ì

‘hmgmJar¶ Vb Ho$ CWbo ‘hmÛrnr¶ Vb, gmJam| Ho$ AÝ¶ {dÝ¶mgm| VWm Iwbo g‘wÐ go A{YH$ CËnmXH$

hmoVo h¢& Iwbo gmJa g^r Obr¶ nm[apñW{VH$s V§Ìm| ‘| go g~go H$‘ CËnmXH$ hmoVo h¢& ¶h Eogm hr h¡

O¡go ñWbr¶ nm[apñW{VH$s V§Ì ‘| ‘éñWb hmoVm h¡& Hw$N> Ord Ho$db Ob ‘| hr ah gH$Vo h¢ na§Vw Hw$N>

AÝ¶ Ord Ob Am¡a ñWb XmoZm| ‘| ah gH$Vo h¢, O¡go ‘oT>H$, ‘Ja‘ÀN>, {hßnmonmoQ>m‘g BË¶m{X& BgHo$

A{V[aº$ Hw$N> Ord Ho$db VmOo nmZr AWdm Imao nmZr ‘| hr Or{dV ah gH$Vo h¢ O~{H$ Hw$N> AÝ¶

Ord VmOo nmZr Am¡a Imao nmZr, XmoZm| ‘| hr Or{dV ah gH$Vo h¢&

(H$) H$m¡Z-go gmJa H$‘ CËnmXH$ hmoVo h¢?

(I) {H$Ýht Xmo Ordm| Ho$ Zm‘ {b{IE Omo Ob Ed§ ñWb XmoZm| ‘| ah gH$Vo h¢&

26. Match Column—I correctly with Column—II : ½×4=2

Column—I Column—II

(States) (Capital)

(a) Tripura (i) Panaji

(b) Sikkim (ii) Chandigarh

(c) Goa (iii) Itanagar

(d) Punjab (iv) Agartala

(v) Gangtok
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H$m°b‘—I H$m ghr {‘bmZ H$m°b‘—II go H$s{OE :

H$m°b‘—I H$m°b‘—II

(amÁ¶) (amOYmZr)

(a) {Ìnwam (i) nUOr

(b) {g{¸$‘ (ii) M§S>rJ‹T>

(c) Jmodm (iii) B©Q>mZJa

(d) n§Om~ (iv) AJaVbm

(v) J¢JQ>moH$

27. Answer the following questions by filling in the blanks with appropriate
words : 1×2=2

(a) Mangroves are practically _____ forests which have leathery leaves.

(b) Areas with annual rainfall less than 75 cm are characterized by
natural vegetation of _____ and shrubs.

{ZåZ{b{IV àíZm| Ho$ CÎma Cn¶wº$ eãXm| Ûmam [aº$ ñWmZm| H$s ny{V© H$aHo$ Xr{OE :

(H$) ‘¢J«mod ì¶mdhm[aH$ ê$n go _____ dZ hmoVo h¢ {OZ‘| Mr‘‹S> nÎmo hmoVo h¢&

(I)  75 go0‘r0 go H$‘ dm{f©H$ dfm© dmbo joÌm| H$s {deofVm _____ Am¡a Pm{‹S>¶m| H$s àmH¥${VH$
dZñn{V hmoVr h¡&

28. Answer the following questions in 1 or 2 word(s) : 1×2=2

(a) According to 2011 Census, what is the percentage of total rural
population in India?

(b) Which State of India has the highest sex ratio?

{ZåZ{b{IV àíZm| Ho$ CÎma 1 ¶m 2 eãXm| ‘| Xr{OE :

(H$) 2011 H$s OZJUZm Ho$ AZwgma, ^maV ‘| Hw$b J«m‘rU OZg§»¶m {H$VZr à{VeV h¡?

(I) ^maV Ho$ {H$g amÁ¶ H$m qbJmZwnmV gdm©{YH$ h¡?
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29. Read the given paragraph carefully and answer the questions that follow
in 1 or 2 word(s) each : 1×2=2

Sex Ratio

Sex ratio refers to the number of females per thousand males of an area.

According to the Census of India 2011, there were only 943 females per

thousand males. So sex composition in India is unfavourable. It means

there are less number of females than the number of males. When the

number of females is more than the males, it is said to be favourable. If

we analyze the data over a period of 100 years (1911–2011), it has been

observed that there has been steady decline of sex ratio in the country

except some marginal increases in the 1951, 1981, 2001 and now in 2011.

(a) Define sex ratio.

(b) Define the term ‘favourable sex ratio’.

{XE JE AZwÀN>oX H$mo Ü¶mZnyd©H$ n{‹T>E Am¡a {ZåZ{b{IV àíZm| Ho$ CÎma 1 ¶m 2 eãXm| ‘| Xr{OE :

qbJmZwnmV

qbJmZwnmV H$m AW© {H$gr joÌ Ho$ à{V hOma nwéfm| Ho$ ‘wH$m~bo {ó¶m| H$s g§»¶m h¡& 2011 H$s ^maV

H$s OZJUZm Ho$ AZwgma, à{V hOma nwéfm| Ho$ ‘wH$m~bo {ó¶m| H$s g§»¶m ‘mÌ 943 Wr& AV… ^maV

‘| qbJmZwnmV AZwHy$b Zht h¡& BgH$m AW© h¡ nwéfm| Ho$ ‘wH$m~bo {ó¶m| H$s g§»¶m H$m H$‘ hmoZm& O~

nwéfm| Ho$ ‘wH$m~bo {ó¶m| H$s g§»¶m A{YH$ hmoVr h¡, Vmo Bgo AZwHy$b H$hm OmVm h¡& ¶{X h‘ {nN>bo

100 dfm] (1911–2011) Ho$ Am±H$‹S>m| H$m {díbofU H$a|, Vmo ¶h XoIm J¶m h¡ {H$ Xoe ‘| qbJmZwnmV

{Za§Va KQ>Vm ahm h¡ {gdm¶ df© 1951, 1981, 2001 Am¡a A~ 2011 ‘| hþB© Hw$N> d¥{Õ¶m| Ho$&

(H$) qbJmZwnmV H$mo n[a^m{fV H$s{OE&

(I) "AZwHy$b qbJ AZwnmV' H$mo n[a^m{fV H$s{OE&

30. Answer the following questions in 1 or 2 word(s) each : 1×2=2

(a) Mention the main development goals of the mercantilism era.

(b) Mention the main development goal of Brundtland Commission.

{ZåZ{b{IV àíZm| Ho$ CÎma 1 ¶m 2 eãXm| ‘| Xr{OE :

(H$) dm{UÁ¶dmX ¶wJ Ho$ à‘wI {dH$mg bú¶m| H$m C„oI H$s{OE&

(I) ~«§Q>b¢S> Am¶moJ Ho$ à‘wI {dH$mg bú¶ H$m C„oI H$s{OE&
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31. Explain the process of weathering. 2

Anj¶ H$s à{H«$¶m H$mo ñnï> H$s{OE&

32. Explain two main characteristics of the Indian desert. 1×2=2

^maVr¶ ao{JñVmZ H$s Xmo à‘wI {deofVmAm| H$mo ñnï> H$s{OE&

33. Explain the difference between Andaman and Nicobar Islands and
Lakshadweep in two points. 1×2=2

A§S>‘mZ Am¡a {ZH$mo~ma Ûrng‘yh VWm bjÛrn ‘| A§Va H$s Xmo {~ÝXþAm| ‘| ì¶m»¶m H$s{OE&

34. “Water is the most precious gift of nature.” Explain the statement with
any two arguments. 1×2=2

""Ob àH¥${V H$m g~go AZ‘mob Cnhma h¡&'' {H$Ýht Xmo VH$m] Ûmam Bg H$WZ H$s ì¶m»¶m H$s{OE&

35. Explain the importance of ‘Operation Flood’ in two points. 1×2=2

"Am°naoeZ âbS>' Ho$ ‘hÎd H$mo Xmo {~ÝXþAm| ‘| ñnï> H$s{OE&

36. On the given Outline Map of India (shown in Page No. 25), mark and
label the following : 1×2=2

n¥ð> g§»¶m 25 ‘| {XE JE ^maV Ho$ aoIm-‘mZ{MÌ ‘| {ZåZ{b{IV H$mo Cn¶wº$ {M•m| go A§{H$V H$s{OE
Am¡a CZHo$ Zm‘ {b{IE :

(a) The southernmost mountain range of the Himalayas

{h‘mb¶ H$s g~go X{jUr nd©V loUr

(b) The highest peak of Karakoram

H$amH$moa‘ H$s g~go D±$Mr MmoQ>r

Note : The following questions are for Visually Impaired Candidates only in lieu
of Question No. 36.

(a) Write the name of the southernmost mountain range of the
Himalayas.

(b) Write the name of the highest peak of Karakoram.

{ZX}e : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©¶m| Ho$ {bE àíZ g§»¶m 36 Ho$ ñWmZ na h¢&

(H$) {h‘mb¶ H$s g~go X{jUr nd©V loUr H$m Zm‘ {b{IE&

(I) H$amH$moa‘ H$s g~go D±$Mr MmoQ>r H$m Zm‘ {b{IE&
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37. On the given Political Outline Map of India (shown in Page No. 27), mark
the following with appropriate symbols and write their names : 1×2=2

n¥ð> g§»¶m 27 ‘| {XE JE ^maV Ho$ amOZr{VH$ aoIm-‘mZ{MÌ na {ZåZ{b{IV H$mo A§{H$V H$s{OE Am¡a
CZHo$ Zm‘ {b{IE :

(a) Leading State in coffee production

H$m°’$s CËnmXZ ‘| AJ«Ur amÁ¶

(b) An oil refinery located in Bihar

{~hma pñWV EH$ VobemoYZ H$maImZm

Note : The following questions are for Visually Impaired Candidates only in lieu
of Question No. 37.

(a) Write the name of the leading State in coffee production.

(b) Write the name of the place where an oil refinery is located
in Bihar.

{ZX}e : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©¶m| Ho$ {bE àíZ g§»¶m 37 Ho$ ñWmZ na h¢&

(H$) H$m°’$s CËnmXZ ‘| AJ«Ur amÁ¶ H$m Zm‘ {b{IE&

(I) Cg ñWmZ H$m Zm‘ {b{IE Ohm± {~hma ‘| EH$ VobemoYZ H$maImZm pñWV h¡&

38. Describe two major ways of conserving biodiversity. 1×2=2

O¡d {d{dYVm Ho$ g§ajU Ho$ Xmo à‘wI VarH$m| H$m dU©Z H$s{OE&

39. Mention two major objectives of the Earth Summit in 1992. 1×2=2

1992 ‘| n¥Ïdr {eIa gå‘obZ Ho$ Xmo à‘wI CÔoí¶mo| H$m C„oI H$s{OE&
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40. Answer the following questions on the basis of the given map : 1×2=2

(a) Identify the State which has the largest number of wildlife
sancturies.

(b) Identify the Union Territory which has the maximum number of
wildlife sancturies.
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{XE JE ‘mZ{MÌ Ho$ AmYma na {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE :

(H$) Cg amÁ¶ H$s nhMmZ H$s{OE {Og‘| g~go A{YH$ dÝ¶Ord A^¶maÊ¶ h¢&

(I) Cg Ho$ÝÐem{gV àXoe H$s nhMmZ H$s{OE {Og‘| g~go A{YH$ dÝ¶Ord A^¶maÊ¶ h¢&
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Note : The following questions are for Visually Impaired Candidates only in lieu
of Question No. 40.

(a) Name the State which has the maximum number of wildlife
sanctuaries.

(b) Write the name of the Union Territory which has the maximum
number of wildlife sanctuaries.

{ZX}e : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©¶m| Ho$ {bE àíZ g§»¶m 40 Ho$ ñWmZ na h¢&

(H$) Cg amÁ¶ H$m Zm‘ {b{IE {Og‘| g~go A{YH$ dÝ¶Ord A^¶maÊ¶ h¢&

(I) Cg Ho$ÝÐem{gV àXoe H$m Zm‘ {b{IE {Og‘| g~go A{YH$ dÝ¶Ord A^¶maÊ¶ h¢&

41. Describe the importance of mountains in the world in three points. 1×3=3

{díd ‘| nd©Vmo| Ho$ ‘hÎd H$m VrZ {~ÝXþAm| ‘| dU©Z H$s{OE&

42. Explain the difference between land breeze and sea breeze in three points.
1×3=3

ñWb g‘ra Am¡a g‘wÐr g‘ra ‘| A§Va H$s VrZ {~ÝXþAm| ‘| ì¶m»¶m H$s{OE&

Or / AWdm

Explain the relationship between mountain breeze and valley breeze in
three points.

nd©V g‘ra VWm KmQ>r g‘ra Ho$ ~rM g§~§Y H$s VrZ {~ÝXþAm| ‘| ì¶m»¶m H$s{OE&

43. “The climate of an area is affected by its latitudinal position.” Justify this
statement by giving three arguments. 1×3=3

""{H$gr joÌ H$s Obdm¶w CgH$s Ajm§er¶ pñW{V go à^m{dV hmoVr h¡&'' VrZ VH©$ XoH$a Bg H$WZ
H$s nw{ï> H$s{OE&

44. Explain the importance of road transport in India in three points. 1×3=3

^maV ‘| g‹S>H$ n[adhZ Ho$ ‘hÎd H$mo VrZ {~ÝXþAm| ‘| ñnï> H$s{OE&

Or / AWdm

Explain the importance of water transport in India in three points.

^maV ‘| Ob n[adhZ Ho$ ‘hÎd H$mo VrZ {~ÝXþAm| ‘| ñnï> H$s{OE&
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45. “The distribution of Scheduled Tribes in India is ununiform.” Justify this
statement by giving three arguments. 1×3=3

""^maV ‘| AZwgy{MV OZOm{V¶m| H$m {dVaU Ag‘mZ h¡&'' VrZ VH©$ XoH$a Bg H$WZ H$s nw{ï> H$s{OE&

46. Explain, in five points, the relationship between a country’s natural
resources and its economic development. 1×5=5

{H$gr Xoe Ho$ àmH¥${VH$ g§gmYZ Am¡a CgHo$ Am{W©H$ {dH$mg Ho$ gå~ÝYm| H$mo nm±M {~ÝXþAm| ‘|
ñnï> H$s{OE&

Or / AWdm

Explain the achievements of Millennium Development Goals in five points.

ghòmãXr {dH$mg bú¶ H$s CnbpãY¶m| H$mo nm±M {~ÝXþAm| ‘| ñnï> H$s{OE&



[V25—3100×3]
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


Roll No.

AZwH«$‘m§H$

OUTLINE MAP OF INDIA

^maV H$m aoIm-‘mZ{MÌ



Attach this map with your answer-book

Bg ‘mZ{MÌ H$mo AnZr CÎma-nwpñVH$m Ho$ gmW ZËWr H$a|

Map for Q. No. 36
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


Roll No.

AZwH«$‘m§H$

OUTLINE MAP OF INDIA (POLITICAL)

^maV H$m aoIm‘mZ{MÌ (amOZr{VH$)



Attach this map with your answer-book

Bg ‘mZ{MÌ H$mo AnZr CÎma-nwpñVH$m Ho$ gmW ZËWr H$a|

Map for Q. No. 37
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Roll No.

AZwH«$‘m§H$

Code No.

H$moS> Z§0
69/MAY/4

Set/goQ> v

General  Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question
Paper.

2. Please check the Question Paper to verify that the total pages and total
number of questions contained in the Question Paper are the same as those
printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. For the objective type of questions, you have to choose any one of the four
alternatives given in the question, i.e., (A), (B), (C) and (D) and indicate your
correct answer in the Answer-Book given to you.

4. Making any identification mark in the Answer-Book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the
candidate.

5. (a) The Question Paper is Bilingual, i.e., English and Hindi. However, if you
wish, you can answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada,
Telugu, Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali,
Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language chosen to answer in the box
provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
questions will be yours only.
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6. Candidate will not be allowed to take Calculator, Mobile Phone, Bluetooth,
Earphone or any such electronic devices in the Examination Hall.

7. In case of any doubt or confusion in the Question Paper, the English version
will prevail.

8. Write your Question Paper Code No. 69/MAY/4, Set v on the Answer-Book.

gm‘mÝ¶ AZwXoe …

1. narjmWu àíZ-nÌ Ho$ nhbo n¥ð> na AnZm AZwH«$‘m§H$ Adí¶ {bI|&

2. H¥$n¶m àíZ-nÌ H$mo Om±M b| {H$ àíZ-nÌ Ho$ Hw$b n¥ð>m| VWm àíZm| H$s CVZr hr g§»¶m h¡ {OVZr àW‘ n¥ð> Ho$
g~go D$na N>nr h¡& Bg ~mV H$s Om±M ^r H$a b| {H$ àíZ H«${‘H$ ê$n ‘| h¢&

3. dñVw{Zð> àíZm| _o§ AmnH$mo Mma {dH$ënm| (A), (B), (C) VWm (D) _| go H$moB© EH$ CÎma MwZZm h¡ VWm Xr JB©
CÎma-nwpñVH$m _| Amn ghr CÎma {bI|Ÿ&

4. CÎma-nwpñVH$m ‘| nhMmZ-{M• ~ZmZo AWdm {Z{X©ï> ñWmZm| Ho$ A{V[aº$ H$ht ̂ r AZwH«$‘m§H$ {bIZo na narjmWu H$mo
A¶mo½¶ R>ham¶m OmEJm&

5. (H$) n«íZ-nÌ Ho$db A§J«oOr/{hÝXr ‘mÜ¶‘ ‘| h¡& {’$a ^r, ¶{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$ ^mfm ‘|
CÎma Xo gH$Vo h¢ …

A§J«oOr, {hÝXr, CXÿ©, n§Om~r, ~§Jbm, V{‘b, ‘b¶mb‘, H$Þ‹S>, VobwJy, ‘amR>r, C{‹S>¶m, JwOamVr, H$m|H$Ur,
‘{Unwar, Ag{‘¶m, Zonmbr, H$í‘rar, g§ñH¥$V Am¡a {gÝYr&

H¥$n¶m CÎma-nwpñVH$m ‘| {XE JE ~m°³g ‘| {bI| {H$ Amn {H$g ^mfm ‘| CÎma {bI aho h¢&

(I) ¶{X Amn {hÝXr Ed§ A§J«oOr Ho$ A{V[aº$ {H$gr AÝ¶ ̂ mfm ‘| CÎma {bIVo h¢, Vmo àíZm| H$mo g‘PZo ‘| hmoZo dmbr
Ìw{Q>¶m|/Jb{V¶m| H$s {Oå‘oXmar Ho$db AmnH$s hmoJr&

6. narjmWu H$mo narjm hm°b ‘| H¡$ëHw$boQ>a, ‘mo~mBb ’$moZ, ãbyQy>W, B¶a’$moZ O¡go {H$gr ^r Bbo³Q´>m°{ZH$ CnH$aU H$mo
bo OmZo H$s AZw‘{V Zht h¡&

7. àíZ-nÌ ‘| {H$gr ^r àH$ma Ho$ g§Xoh AWdm Xþ{dYm H$s pñW{V ‘| A§J«oOr AZwdmX hr ‘mÝ¶ hmoJm&

8. AnZr CÎma-nwpñVH$m na àíZ-nÌ H$m H$moS> Z§0 69/MAY/4, goQ v {bI|&
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GEOGRAPHY

^yJmob
(316)

Time : 3 Hours ] [ Maximum Marks : 80

g‘¶ … 3 KÊQ>o ] [ nyUmªH$ … 80

Note  : (i) This question paper consists of 46 questions in all.

(ii) All questions are compulsory.

(iii) Marks are given against each question.

(iv) (a) Question Nos. 1 to 16—Multiple choice-type questions (MCQs)
carrying 1 mark each. Select and write the most appropriate option
out of the four options given in each of these questions.

(b) Question Nos. 17 to 20—Objective-type map-based questions
carrying 1 mark each. Questions for visually impaired candidate in
lieu of Question Nos. 17–20 have been given. You have to attempt
only one of the given choices in such questions. Question Nos.
21 to 30—Objective-type questions carrying 2 marks each (with
2/4 sub-parts of 1 mark each). Attempt these questions as per the
instructions given for each of the questions 21–30.

(c) Question Nos. 31 to 40—Very short questions carrying 2 marks
each to be answered in the range of 30 to 50 words. Question Nos.
36 and 37 are map-based questions. Questions for visually
impaired candidate in lieu of Question Nos. 36 and 37 have been
given.

(d) Question Nos. 41 to 45—Short answer-type questions carrying
3 marks each to be answered in the range of 50 to 80 words.

(e) Question No. 46—Long answer-type question carrying 5 marks to be
answered in the range of 80 to 120 words.

{ZX}e … (i) Bg àíZ-nÌ ‘| Hw$b 46 àíZ h¢&

(ii) g^r àíZ A{Zdm¶© h¢&

(iii) àË¶oH$ àíZ Ho$ A§H$ Cg àíZ Ho$ gm‘Zo {XE JE h¢&
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(iv) (a) àíZ g§»¶m 1 go 16—~hþ{dH$ënr¶ àH$ma Ho$ àíZ (MCQs), Omo àË¶oH$ 1 A§H$ H$m h¡&
àË¶oH$ àíZ ‘| {XE JE Mma {dH$ënm| ‘| go g~go Cn¶wº$ {dH$ën H$m M¶Z H$a| Am¡a {bI|&

(b) àíZ g§»¶m 17 go 20—dñVw{Zð> àH$ma Ho$ ‘mZ{MÌ na AmYm[aV àíZ, Omo àË¶oH$ 1 A§H$ H$m
h¡& Ñ{ï>~m{YV narjm{W©¶m| Ho$ {bE àíZ g§»¶m 17 go 20 Ho$ ñWmZ na àíZ {XE JE h¢&
AmnH$mo Eogo àíZm| ‘| {XE JE {dH$ënm| ‘| go Ho$db EH$ H$m hr CÎma XoZm h¡& àíZ g§»¶m
21 go 30—dñVw{Zð àH$ma Ho$ àíZ, Omo àË¶oH$ 2 A§H$ H$m h¡ (1 A§H$ Ho$ 2/4 Cn^mJm| Ho$
gmW)& àË¶oH$ àíZ Ho$ {bE {XE JE {ZX}em| Ho$ AZwgma BZ àíZm| (21 go 30) Ho$ CÎma X|&

(c) àíZ g§»¶m 31 go 40—2 A§H$ Ho$ A{V bKyÎmar¶ àH$ma Ho$ àíZ, {OZHo$ CÎma 30 go 50

eãXm| ‘| XoZo h¢& àíZ g§»¶m 36 Ed§ 37 ‘mZ{MÌ na AmYm[aV àíZ h¢& Ñ{ï>~m{YV narjm{W©¶m|
Ho$ {bE àíZ g§»¶m 36 Ed§ 37 Ho$ ñWmZ na àíZ {XE JE h¢&

(d) àíZ g§»¶m 41 go 45—3 A§H$ Ho$ bKyÎmar¶ àH$ma Ho$ àíZ, {OZHo$ CÎma 50 go 80 eãXm|
‘| XoZo h¢&

(e) àíZ g§»¶m 46—5 A§H$ H$m XrK©-CÎmar¶ àH$ma H$m àíZ, {OgH$m CÎma 80 go 120 eãXm|
‘| XoZm h¡&

1. Which of the following rivers has the largest catchment area? 1

(A) Godavari (B) Krishna

(C) Kaveri (D) Narmada

{ZåZ{b{IV ‘| go {H$g ZXr H$m ObJ«hU joÌ g~go A{YH$ h¡?

(A) JmoXmdar (B) H¥$îUm

(C) H$mdoar (D) Z‘©Xm

(1) Answers of all questions are to be given in the Answer-Book given to you.

g^r àíZm| Ho$ CÎma AmnH$mo Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&
(2) 15 minutes time has been allotted to read this question paper. The

question paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30
p.m., the students will read the question paper only and will not write any
answer on the Answer-Book during this period.

Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {‘ZQ> H$m g‘¶ {X¶m J¶m h¡& àíZ-nÌ H$m {dVaU Xmonha ‘|
2:15 ~Oo {H$¶m OmEJm& 2:15 ~Oo go 2:30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a Bg Ad{Y
Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo&
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2. Two statements are given below as Assertion (A) and Reason (R). Read both
the statements carefully and choose the correct option : 1

Assertion (A) :

To pay tribute to the bravery of forest personnel, the Government of
India celebrates ‘Forest Martyrs Day’ on 11 September.

Reason (R) :

Awareness is an important measure for environmental protection.

(A) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(B) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(C) (A) is correct and (R) is incorrect

(D) (A) is incorrect and (R) is correct

ZrMo Xmo H$WZ {XE JE h¢& ¶o A{^H$WZ (A) Am¡a H$maU (R) h¢& XmoZm| H$WZm| H$mo Ü¶mZnyd©H$ n{‹T>E
Am¡a ghr {dH$ën H$m M¶Z H$s{OE :

A{^H$WZ (A) :

dZH${‘©¶m| Ho$ em¡¶© H$mo lÕm§O{b XoZo Ho$ {bE ^maV gaH$ma 11 {gVå~a H$mo "dZ ehrX {Xdg'
‘ZmVr h¡&

H$maU (R) :

n¶m©daU g§ajU Ho$ {bE OmJê$H$Vm EH$ ‘hÎdnyU© Cnm¶ h¡&

(A) XmoZm| (A) Am¡a (R) ghr h¢& bo{H$Z (R), (A) H$s ghr ì¶m»¶m Zht h¡

(B) XmoZm| (A) Am¡a (R) ghr h¢& Am¡a (R), (A) H$s ghr ì¶m»¶m h¡

(C) (A) ghr h¡ Am¡a (R) JbV h¡

(D) (A) JbV h¡ Am¡a (R) ghr h¡&

3. Which of the following factors does not affect the climate of India? 1

(A) Landform (B) Distance from sea

(C) Divergence of plates (D) Latitudinal position
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{ZåZ{b{IV ‘| go H$m¡Z-gm H$maH$ ^maV H$s Obdm¶w H$mo à^m{dV Zht H$aVm h¡?

(A) ^y-AmH¥${V (B) g‘wÐ go Xÿar

(C) ßboQ>m| H$m {dMbZ (D) Ajm§er¶ pñW{V

4. Choose the correct option related to the group of tributaries of Indus River. 1

(A) Kosi, Beas, Gandak (B) Jhelum, Beas, Sutlej

(C) Jhelum, Gandak, Ghaghra (D) Gandak, Ghaghra, Sutlej

qgYw ZXr H$s ghm¶H$ Z{X¶m| Ho$ g‘yh go gå~pÝYV ghr {dH$ën H$m M¶Z H$s{OE&

(A) H$mogr, ã¶mg, J§S>H$ (B) Pob‘, ã¶mg, gVbO

(C) Pob‘, J§S>H$, KmKam (D) J§S>H$, KmKam, gVbO

5. Match Column—I with Column—II and choose the correct option : 1

Column—I Column—II

(a) Tropical hot and humid (i) Mediterranean

(b) Dry climate (ii) Monsoon

(c) Warm temperate (iii) Tundra

(d) Cold snow forest (iv) Steppes

(v) Taiga

Options :

(A) (a)—(ii), (b)—(iv), (c)—(i), (d)—(v)

(B) (a)—(ii), (b)—(iv), (c)—(v), (d)—(i)

(C) (a)—(iv), (b)—(ii), (c)—(iii), (d)—(v)

(D) (a)—(ii), (b)—(v), (c)—(i), (d)—(iii)
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H$m°b‘—I H$m {‘bmZ H$m°b‘—II go H$s{OE Am¡a ghr {dH$ën H$m M¶Z H$s{OE :

H$m°b‘—I H$m°b‘—II

(a) CîUH${Q>~§Yr¶ J‘© Am¡a AmÐ© (i) ^y‘Ü¶gmJar¶

(b) ewîH$ Obdm¶w (ii) ‘mZgyZr

(c) J‘© g‘erVmoîU (iii) Qw>§S´>m

(d) erV {h‘ g{hV dZr¶ (iv) ñQ>onr

(v) Q>¡Jm

{dH$ën :

(A) (a)—(ii), (b)—(iv), (c)—(i), (d)—(v)

(B) (a)—(ii), (b)—(iv), (c)—(v), (d)—(i)

(C) (a)—(iv), (b)—(ii), (c)—(iii), (d)—(v)

(D) (a)—(ii), (b)—(v), (c)—(i), (d)—(iii)

6. Choose the correct option related to the characteristics of polar winds. 1

(A) In the Northern Hemisphere, their direction is from West to North-East.

(B) The wids move from subpolar regions towards the poles.

(C) These are known as trade winds.

(D) These are extremely cold, dry and stable winds.

Y«wdr¶ ndZm| H$s {deofVmAm| go gå~pÝYV ghr {dH$ën H$m M¶Z H$s{OE&

(A) CÎmar JmobmY© ‘| BZH$s {Xem npíM‘ go CÎma-nyd© H$s Amoa hmoVr h¡&

(B) ¶o CnY«wdr¶ joÌm| go Y«wdm| H$s Amoa MbVr h¢&

(C) BÝh| ì¶mnm[aH$ ndZm| Ho$ Zm‘ go OmZm OmVm h¡&

(D) ¶o AË¶§V R>§S>r, ewîH$ VWm pñWa ndZ| hmoVr h¢&

7. Which of the following seas has higher salinity than normal? 1

(A) Bering Sea (B) Baltic Sea

(C) Red Sea (D) Japan Sea
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{ZåZ{b{IV ‘| go {H$g gmJa H$s bdUVm gm‘mÝ¶ go A{YH$ h¡?

(A) ~o[a¨J gmJa (B) ~mpëQ>H$ gmJa

(C) bmb gmJa (D) OmnmZ gmJa

8. Read the following statements related to continental rise carefully and
choose the correct option : 1

I. It is the link between the continental slope and the abyssal plain.

II. Seafood is obtained entirely from the continental shelf.

III. It is a landform which formed in the oceans from sequences of
continental mass.

IV. The slope gradient of the continental rise is less than that of
continental slope.

(A) Only I, II and III are correct

(B) Only I, III and IV are correct

(C) Only I, II and IV are correct

(D) Only II, III and IV are correct

‘hmÛrnr¶ C^ma go gå~pÝYV {ZåZ{b{IV H$WZm| H$mo Ü¶mZnyd©H$ n{‹T>E Am¡a ghr {dH$ën H$m M¶Z
H$s{OE :

I. ¶h ‘hmÛrnr¶ T>mb Am¡a {dVb ‘¡XmZ Ho$ ~rM H$s H$‹S>r h¡&

II. g‘wÐr ^moOZ nyar Vah ‘hmÛrnr¶ VQ> (eoë’$) go àmá hmoVm h¡&

III. ¶h ‘hmÛrnr¶ nXmWm] Ho$ AZwH«$‘m| go ‘hmgmJam| ‘| ~Zm {Zjo{nV ñWb ê$n h¡&

IV. ‘hmÛrnr¶ C^ma H$s T>mb àdUVm ‘hmÛrnr¶ T>mb H$s VwbZm ‘| H$‘ hmoVr h¡&

(A) Ho$db I, II Am¡a III ghr h¢

(B) Ho$db I, III Am¡a IV ghr h¢

(C) Ho$db I, II Am¡a IV ghr h¢

(D) Ho$db II, III Am¡a IV ghr h¢
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9. Which of the following is the most important cause of soil erosion? Select
the most appropriate option. 1

(A) Transportation (B) Precipitation

(C) Condensation (D) Permeability

{‘Å>r Ho$ H$Q>md H$m {ZåZ{b{IV ‘| go H$m¡Z-gm g~go à‘wI H$maU h¡? g~go Cn¶wº$ {dH$ën H$m
M¶Z H$s{OE&

(A) Andmh (B) df©U

(C) g§KZZ (D) nmaJå¶Vm

10. Hwang Ho Plain of China is an example of which type of plain? 1

(A) Eroded (B) Structural

(C) Depositional (D) Delta

MrZ H$m ˆm§J hmo ‘¡XmZ {H$g àH$ma Ho$ ‘¡XmZ H$m CXmhaU h¡?

(A) Ana{XV (B) g§aMZmË‘H$

(C) {ZjonUmË‘H$ (D) S>oëQ>mB©

11. Which of the following is an example of a continental plateau? 1

(A) Greenland plateau (B) Mexican plateau

(C) Bolivian plateau (D) Patagonia plateau

{ZåZ{b{IV ‘| go H$m¡Z-gm ‘hmÛrnr¶ nR>ma H$m EH$ CXmhaU h¡?

(A) J«rZb¢S> nR>ma (B) ‘op³gH$mo H$m nR>ma

(C) ~mobr{d¶m H$m nR>ma (D) noQ>mJmo{Z¶m H$m nR>ma

12. Identify the leading State in tea production in India. 1

(A) Tamil Nadu (B) Karnataka

(C) West Bengal (D) Assam

^maV ‘| Mm¶ CËnmXZ ‘| AJ«Ur amÁ¶ H$s nhMmZ H$s{OE&

(A) V{‘bZmSw>> (B) H$Zm©Q>H$

(C) npíM‘ ~§Jmb (D) Ag‘



316/MAY/208B 10

13. Which of the following is a non-metallic mineral? 1

(A) Bauxite (B) Mica

(C) Manganese (D) Chromite

{ZåZ{b{IV ‘| go H$m¡Z-gm AYmpËdH$ I{ZO h¡?

(A) ~m°³gmBQ> (B) A^«H$

(C) ‘¢JZrO (D) H«$mo‘mBQ>

14. The northernmost terminal station of the North-South Corridor is

(A) Amritsar (B) Chandigarh

(C) Srinagar (D) Shimla 1

CÎma-X{jU J{b¶mao H$m g~go CÎmar Q>{‘©Zb ñQ>oeZ h¡

(A) A‘¥Vga (B) M§S>rJ‹T>

(C) lrZJa (D) {e‘bm

15. Which of the following States secured the highest rank in providing quality

of education? 1

(A) Jharkhand (B) West Bengal

(C) Kerala (D) Odisha

{ZåZ{b{IV ‘| go {H$g amÁ¶ Zo {ejm H$s JwUdÎmm àXmZ H$aZo ‘| gdm}ƒ ñWmZ àmá {H$¶m h¡?

(A) PmaI§S> (B) npíM‘ ~§Jmb

(C) Ho$ab (D) Amo{S>em

16. Hindi language belongs to which of the following language families? 1

(A) Austric (B) Sino-Tibetan

(C) Dravidian (D) Indo-Aryan

{hÝXr ^mfm H$m gå~ÝY {ZåZ{b{IV ‘| go {H$g ^mfm n[adma go h¡?

(A) Am°pñQ´>H$ (B) MrZr-{Vã~Vr

(C) Ð{d‹S> (D) B§S>mo-Am¶©Z
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Note : Study the given map carefully and answer the map-based questions

(Question Nos. 17, 18, 19 and 20) :

{ZX}e : {XE JE ‘mZ{MÌ H$m Ü¶mZnyd©H$ AÜ¶¶Z H$s{OE Am¡a ‘mZ{MÌ na AmYm[aV àíZ g§»¶m 17, 18,

19 Ed§ 20 Ho$ CÎma Xr{OE :

17. Identify the major mountain marked ‘A’ on the map. 1

(A) Rocky (B) Ural

(C) Andes (D) Atlas
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‘mZ{MÌ na A§{H$V ‘A’ à‘wI nd©V H$s nhMmZ H$s{OE&

(A) am°H$s (B) ¶yamb

(C) E§S>rO (D) EQ>bg

18. Identify the warm water current marked ‘B’ on the map. 1

(A) Norway (B) Alaska

(C) Agulhas (D) Gulf Stream

‘mZ{MÌ na A§{H$V ‘B’ J‘© ObYmam H$s nhMmZ H$s{OE&

(A) Zm°d} (B) AbmñH$m

(C) AJwëhmg (D) Jë’$ ñQ´>r‘

19. Identify the evergreen rain forest biome marked ‘C’ on the map. 1

(A) Nile Basin (B) Congo Basin

(C) Volga Region (D) Amazon Region

‘mZ{MÌ na A§{H$V ‘C’ gXm~hma dfm©dZ Ordmo‘ H$s nhMmZ H$s{OE&

(A) Zrb ~o{gZ (B) H$m§Jmo ~o{gZ

(C) dmoëJm joÌ (D) A‘oµOZ joÌ

20. Identify the temperate grassland biome marked ‘D’ on the map. 1

(A) Velds (B) Pampas

(C) Downs (D) Prairies

‘mZ{MÌ na A§{H$V ‘D’ g‘erVmoîU Kmg ‘¡XmZ Ordmo‘ H$s nhMmZ H$s{OE&

(A) doëS²>g (B) n§nmg

(C) S>mCÝg (D) ào¶arO
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Note : The following questions are for Visually Impaired Candidates in lieu of

Question Nos. 17, 18, 19 and 20.

{ZX}e : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©¶m| Ho$ {bE àíZ g§»¶m 17, 18, 19 Am¡a 20 Ho$

ñWmZ na h¢&

17. Which of the following mountains is located in Europe? 1

(A) Rocky (B) Ural

(C) Andes (D) Atlas

{ZåZ{b{IV ‘| go H$m¡Z-gm nd©V ¶yamon ‘| pñWV h¡?

(A) am°H$s (B) ¶yamb

(C) E§S>rO (D) EQ>bg

18. Which of the following is the warm water current of the Indian Ocean? 1

(A) Norway (B) Alaska

(C) Agulhas (D) Gulf Stream

{ZåZ{b{IV ‘| go H$m¡Z-gr {hÝX ‘hmgmJa H$s J‘© ObYmam h¡?

(A) Zm°d} (B) AbmñH$m

(C) AJwëhmg (D) Jë’$ ñQ´>r‘>

19. Which of the following is the South American evergreen rain forest biome? 1

(A) Nile Basin (B) Congo Basin

(C) Volga Region (D) Amazon Region

{ZåZ{b{IV ‘| go H$m¡Z-gm X{jU A‘o[aH$m H$m gXm~hma dfm©dZ Ordmo‘ h¡?

(A) Zrb ~o{gZ (B) H$m§Jmo ~o{gZ

(C) dmoëJm joÌ (D) A‘oµOZ joÌ

20. Which of the following temperate grasslands is located in Africa? 1

(A) Steppes (B) Downs

(C) Velds (D) Pampas

{ZåZ{b{IV ‘| go H$m¡Z-gm g‘erVmoîU> Kmg ‘¡XmZ A’«$sH$m ‘| pñWV h¡?

(A) ñQ>onrµO (B) S>mC§g

(C) doëS²>g (D) n§nmg
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21. Match Column—I correctly with Column—II : ½×4=2

Column—I Column—II

(Terms) (When does it happen)

(a) Perigee (i) The earth is closest to the sun

(b) Apogee (ii) Equal distance between the sun, moon and earth

(c) Perihelion (iii) The moon’s orbit is farthest from the earth

(d) Aphelion (iv) Moon’s orbit is closest to the earth

(v) The earth is further away from the sun

H$m°b‘—I H$m ghr {‘bmZ H$m°b‘—II go H$s{OE :

H$m°b‘—I H$m°b‘—II

(nm[a^m{fH$ eãX) (¶h H$~ hmoVm h¡)

(a) Cn^y (no[aOr) (i) n¥Ïdr gy¶© go g~go {ZH$Q> h¡

(b) An^y (AnmoOr) (ii) gy¶©, MÝÐ‘m Am¡a n¥Ïdr Ho$ ~rM g‘mZ Xÿar

(c) Cngm¡a (iii) MÝÐ‘m H$s H$jm n¥Ïdr go g~go A{YH$ Xÿa h¡

(d) Angm¡a (iv) MÝÐ‘m H$s H$jm n¥Ïdr go g~go {ZH$Q> h¡

(v) n¥Ïdr gy¶© go A{YH$ Xÿa h¡

22. Answer the following questions by filling in the blanks with appropriate
words : 1×2=2

_____ Falls is in the Chhota Nagpur Plateau on the Swarnarekha River.
_____ Falls is on the Sharavathi River in Karnataka.

{ZåZ{b{IV àíZm| Ho$ CÎma Cn¶wº$ eãXm| Ûmam [aº$ ñWmZm| H$s ny{V© H$aHo$ Xr{OE :

ñdU©aoIm ZXr na N>moQ>m ZmJnwa nR>ma ‘| _____ ànmV h¡& H$Zm©Q>H$ ‘| eamdVr ZXr
na _____  ànmV h¡&
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23. Answer the following questions in 1 or 2 word(s) each : 1×2=2

(a) Oceanography is a sub-branch of which branch of geography?

(b) Write the names of two major geographers who are considered as the
founders of modern geography.

{ZåZ{b{IV àíZm| Ho$ 1 ¶m 2 eãXm| ‘| CÎma Xr{OE :

(H$) g‘wÐ{dkmZ ^yJmob H$s {H$g emIm H$s CnemIm h¡?

(I) Xmo à‘wI ^yJmobdoÎmmAm| Ho$ Zm‘ {b{IE, {OÝh| AmYw{ZH$ ^yJmob H$m g§ñWmnH$ ‘mZm OmVm h¡&

24. Answer the following questions in 1 or 2 word(s) each : 1×2=2

(a) Mention the main development goals of the mercantilism era.

(b) Mention the main development goal of Brundtland Commission.

{ZåZ{b{IV àíZm| Ho$ CÎma 1 ¶m 2 eãXm| ‘| Xr{OE :

(H$) dm{UÁ¶dmX ¶wJ Ho$ à‘wI {dH$mg bú¶m| H$m C„oI H$s{OE&

(I) ~«§Q>b¢S> Am¶moJ Ho$ à‘wI {dH$mg bú¶ H$m C„oI H$s{OE&

25. Read the given paragraph carefully and answer the questions that follow
in 1 or 2 word(s) each : 1×2=2

Sex Ratio

Sex ratio refers to the number of females per thousand males of an area.

According to the Census of India 2011, there were only 943 females per

thousand males. So sex composition in India is unfavourable. It means

there are less number of females than the number of males. When the

number of females is more than the males, it is said to be favourable. If

we analyze the data over a period of 100 years (1911–2011), it has been

observed that there has been steady decline of sex ratio in the country

except some marginal increases in the 1951, 1981, 2001 and now in 2011.

(a) Define sex ratio.

(b) Define the term ‘favourable sex ratio’.
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{XE JE AZwÀN>oX H$mo Ü¶mZnyd©H$ n{‹T>E Am¡a {ZåZ{b{IV àíZm| Ho$ CÎma 1 ¶m 2 eãXm| ‘| Xr{OE :

qbJmZwnmV

qbJmZwnmV H$m AW© {H$gr joÌ Ho$ à{V hOma nwéfm| Ho$ ‘wH$m~bo {ó¶m| H$s g§»¶m h¡& 2011 H$s ^maV

H$s OZJUZm Ho$ AZwgma, à{V hOma nwéfm| Ho$ ‘wH$m~bo {ó¶m| H$s g§»¶m ‘mÌ 943 Wr& AV… ^maV

‘| qbJmZwnmV AZwHy$b Zht h¡& BgH$m AW© h¡ nwéfm| Ho$ ‘wH$m~bo {ó¶m| H$s g§»¶m H$m H$‘ hmoZm& O~

nwéfm| Ho$ ‘wH$m~bo {ó¶m| H$s g§»¶m A{YH$ hmoVr h¡, Vmo Bgo AZwHy$b H$hm OmVm h¡& ¶{X h‘ {nN>bo

100 dfm] (1911–2011) Ho$ Am±H$‹S>m| H$m {díbofU H$a|, Vmo ¶h XoIm J¶m h¡ {H$ Xoe ‘| qbJmZwnmV

{Za§Va KQ>Vm ahm h¡ {gdm¶ df© 1951, 1981, 2001 Am¡a A~ 2011 ‘| hþB© Hw$N> d¥{Õ¶m| Ho$&

(H$) qbJmZwnmV H$mo n[a^m{fV H$s{OE&

(I) "AZwHy$b qbJ AZwnmV' H$mo n[a^m{fV H$s{OE&

26. Answer the following questions in 1 or 2 word(s) : 1×2=2

(a) According to 2011 Census, what is the percentage of total rural
population in India?

(b) Which State of India has the highest sex ratio?

{ZåZ{b{IV àíZm| Ho$ CÎma 1 ¶m 2 eãXm| ‘| Xr{OE :

(H$) 2011 H$s OZJUZm Ho$ AZwgma, ^maV ‘| Hw$b J«m‘rU OZg§»¶m {H$VZr à{VeV h¡?

(I) ^maV Ho$ {H$g amÁ¶ H$m qbJmZwnmV gdm©{YH$ h¡?

27. Answer the following questions by filling in the blanks with appropriate
words : 1×2=2

(a) Mangroves are practically _____ forests which have leathery leaves.

(b) Areas with annual rainfall less than 75 cm are characterized by
natural vegetation of _____ and shrubs.

{ZåZ{b{IV àíZm| Ho$ CÎma Cn¶wº$ eãXm| Ûmam [aº$ ñWmZm| H$s ny{V© H$aHo$ Xr{OE :

(H$) ‘¢J«mod ì¶mdhm[aH$ ê$n go _____ dZ hmoVo h¢ {OZ‘| Mr‘‹S> nÎmo hmoVo h¢&

(I)  75 go0‘r0 go H$‘ dm{f©H$ dfm© dmbo joÌm| H$s {deofVm _____ Am¡a Pm{‹S>¶m| H$s àmH¥${VH$
dZñn{V hmoVr h¡&
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28. Match Column—I correctly with Column—II : ½×4=2

Column—I Column—II

(States) (Capital)

(a) Tripura (i) Panaji

(b) Sikkim (ii) Chandigarh

(c) Goa (iii) Itanagar

(d) Punjab (iv) Agartala

(v) Gangtok

H$m°b‘—I H$m ghr {‘bmZ H$m°b‘—II go H$s{OE :

H$m°b‘—I H$m°b‘—II

(amÁ¶) (amOYmZr)

(a) {Ìnwam (i) nUOr

(b) {g{¸$‘ (ii) M§S>rJ‹T>

(c) Jmodm (iii) B©Q>mZJa

(d) n§Om~ (iv) AJaVbm

(v) J¢JQ>moH$

29. Read the given paragraph carefully and answer the following questions
in 1 or 2 word(s) each : 1×2=2

Aquatic Ecosystem

On the ocean surface, shallow continental shelves are more productive

than other configurations of ocean floor and open oceans. Open oceans are

the least productive of all aquatic ecosystems. They are like the deserts in

the terrestrial ecosystem. Some of the organisms exclusively live in water

whereas some of the organisms can live in water and on land, i.e., frogs,

crocodiles, hippopotamus, etc. Moreover, some organisms live either in
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freshwater or saline water and some others live in freshwater and saline

water both.

(a) Which oceans are less productive?

(b) Write the names of any two organisms which can live both in water
and on land.

{XE JE AZwÀN>oX H$mo Ü¶mZnyd©H$ n{‹T>E Am¡a {ZåZ{b{IV àíZm| Ho$ CÎma 1 ¶m 2 eãXm| ‘| Xr{OE :

Obr¶ nm[apñW{VH$s V§Ì

‘hmgmJar¶ Vb Ho$ CWbo ‘hmÛrnr¶ Vb, gmJam| Ho$ AÝ¶ {dÝ¶mgm| VWm Iwbo g‘wÐ go A{YH$ CËnmXH$

hmoVo h¢& Iwbo gmJa g^r Obr¶ nm[apñW{VH$s V§Ìm| ‘| go g~go H$‘ CËnmXH$ hmoVo h¢& ¶h Eogm hr h¡

O¡go ñWbr¶ nm[apñW{VH$s V§Ì ‘| ‘éñWb hmoVm h¡& Hw$N> Ord Ho$db Ob ‘| hr ah gH$Vo h¢ na§Vw Hw$N>

AÝ¶ Ord Ob Am¡a ñWb XmoZm| ‘| ah gH$Vo h¢, O¡go ‘oT>H$, ‘Ja‘ÀN>, {hßnmonmoQ>m‘g BË¶m{X& BgHo$

A{V[aº$ Hw$N> Ord Ho$db VmOo nmZr AWdm Imao nmZr ‘| hr Or{dV ah gH$Vo h¢ O~{H$ Hw$N> AÝ¶

Ord VmOo nmZr Am¡a Imao nmZr, XmoZm| ‘| hr Or{dV ah gH$Vo h¢&

(H$) H$m¡Z-go gmJa H$‘ CËnmXH$ hmoVo h¢?

(I) {H$Ýht Xmo Ordm| Ho$ Zm‘ {b{IE Omo Ob Ed§ ñWb XmoZm| ‘| ah gH$Vo h¢&

30. Answer the following questions in 1 or 2 word(s) : 1×2=2

(a) The subtropical high-pressure belt is located in the Northern and
Southern Hemispheres between which latitudes?

(b) At which latitude is the subpolar low-pressure belt located in the
Northern and Southern Hemispheres?

{ZåZ{b{IV àíZm| Ho$ CÎma 1 ¶m 2 eãXm| ‘| Xr{OE :

(H$) CnmoîUH${Q>~§Yr¶ Cƒ-Xm~ noQ>r CÎmar Ed§ X{jUr JmobmYm] ‘| {H$Z Ajm§em| Ho$ ‘Ü¶ pñWV h¡?

(I) CnY«wdr¶ {ZåZ-Xm~ noQ>r CÎmar Ed§ X{jUr JmobmYm] ‘| {H$g Ajm§e na pñWV h¡?
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31. “Water is the most precious gift of nature.” Explain the statement with
any two arguments. 1×2=2

""Ob àH¥${V H$m g~go AZ‘mob Cnhma h¡&'' {H$Ýht Xmo VH$m] Ûmam Bg H$WZ H$s ì¶m»¶m H$s{OE&

32. Explain the climatic effect of Tropic of Cancer in India in two points. 1×2=2

^maV ‘| H$H©$aoIm Ho$ Obdm¶dr à^md H$mo Xmo {~ÝXþAm| ‘| ñnï> H$s{OE&

33. Explain the two main characteristics of the Brahmaputra Plain. 1×2=2

~«÷nwÌ ‘¡XmZ H$s Xmo  à‘wI {deofVmAm| H$mo ñnï> H$s{OE&

34. Explain the process of weathering. 2

Anj¶ H$s à{H«$¶m H$mo ñnï> H$s{OE&

35. Mention two major objectives of the Earth Summit in 1992. 1×2=2

1992 ‘| n¥Ïdr {eIa gå‘obZ Ho$ Xmo à‘wI CÔoí¶mo| H$m C„oI H$s{OE&

36. On the given Outline Map of India (shown in Page No. 25), mark and
label the following : 1×2=2

n¥ð> g§»¶m 25 ‘| {XE JE ^maV Ho$ aoIm-‘mZ{MÌ ‘| {ZåZ{b{IV H$mo Cn¶wº$ {M•m| go A§{H$V H$s{OE
Am¡a CZHo$ Zm‘ {b{IE :

(a) The southernmost mountain range of the Himalayas

{h‘mb¶ H$s g~go X{jUr nd©V loUr

(b) The highest peak of Karakoram

H$amH$moa‘ H$s g~go D±$Mr MmoQ>r

Note : The following questions are for Visually Impaired Candidates only in lieu
of Question No. 36.

(a) Write the name of the southernmost mountain range of the
Himalayas.

(b) Write the name of the highest peak of Karakoram.

{ZX}e : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©¶m| Ho$ {bE àíZ g§»¶m 36 Ho$ ñWmZ na h¢&

(H$) {h‘mb¶ H$s g~go X{jUr nd©V loUr H$m Zm‘ {b{IE&

(I) H$amH$moa‘ H$s g~go D±$Mr MmoQ>r H$m Zm‘ {b{IE&
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37. On the given Political Outline Map of India (shown in Page No. 27), mark
the following with appropriate symbols and write their names : 1×2=2

n¥ð> g§»¶m 27 ‘| {XE JE ^maV Ho$ amOZr{VH$ aoIm-‘mZ{MÌ na {ZåZ{b{IV H$mo A§{H$V H$s{OE Am¡a
CZHo$ Zm‘ {b{IE :

(a) Leading State in coffee production

H$m°’$s CËnmXZ ‘| AJ«Ur amÁ¶

(b) An oil refinery located in Bihar

{~hma pñWV EH$ VobemoYZ H$maImZm

Note : The following questions are for Visually Impaired Candidates only in lieu
of Question No. 37.

(a) Write the name of the leading State in coffee production.

(b) Write the name of the place where an oil refinery is located
in Bihar.

{ZX}e : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©¶m| Ho$ {bE àíZ g§»¶m 37 Ho$ ñWmZ na h¢&

(H$) H$m°’$s CËnmXZ ‘| AJ«Ur amÁ¶ H$m Zm‘ {b{IE&

(I) Cg ñWmZ H$m Zm‘ {b{IE Ohm± {~hma ‘| EH$ VobemoYZ H$maImZm pñWV h¡&

38. Explain the importance of ‘Operation Flood’ in two points. 1×2=2

"Am°naoeZ âbS>' Ho$ ‘hÎd H$mo Xmo {~ÝXþAm| ‘| ñnï> H$s{OE&

39. Describe two major ways of conserving biodiversity. 1×2=2

O¡d {d{dYVm Ho$ g§ajU Ho$ Xmo à‘wI VarH$m| H$m dU©Z H$s{OE&
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40. Answer the following questions on the basis of the given map : 1×2=2

(a) Identify the State which has the largest number of wildlife
sancturies.

(b) Identify the Union Territory which has the maximum number of
wildlife sancturies.
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{XE JE ‘mZ{MÌ Ho$ AmYma na {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE :

(H$) Cg amÁ¶ H$s nhMmZ H$s{OE {Og‘| g~go A{YH$ dÝ¶Ord A^¶maÊ¶ h¢&

(I) Cg Ho$ÝÐem{gV àXoe H$s nhMmZ H$s{OE {Og‘| g~go A{YH$ dÝ¶Ord A^¶maÊ¶ h¢&
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Note : The following questions are for Visually Impaired Candidates only in lieu
of Question No. 40.

(a) Name the State which has the maximum number of wildlife
sanctuaries.

(b) Write the name of the Union Territory which has the maximum
number of wildlife sanctuaries.

{ZX}e : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©¶m| Ho$ {bE àíZ g§»¶m 40 Ho$ ñWmZ na h¢&

(H$) Cg amÁ¶ H$m Zm‘ {b{IE {Og‘| g~go A{YH$ dÝ¶Ord A^¶maÊ¶ h¢&

(I) Cg Ho$ÝÐem{gV àXoe H$m Zm‘ {b{IE {Og‘| g~go A{YH$ dÝ¶Ord A^¶maÊ¶ h¢&

41. Explain the difference between land breeze and sea breeze in three points.
1×3=3

ñWb g‘ra Am¡a g‘wÐr g‘ra ‘| A§Va H$s VrZ {~ÝXþAm| ‘| ì¶m»¶m H$s{OE&

Or / AWdm

Explain the relationship between mountain breeze and valley breeze in
three points.

nd©V g‘ra VWm KmQ>r g‘ra Ho$ ~rM g§~§Y H$s VrZ {~ÝXþAm| ‘| ì¶m»¶m H$s{OE&

42. Describe the importance of mountains in the world in three points. 1×3=3

{díd ‘| nd©Vmo| Ho$ ‘hÎd H$m VrZ {~ÝXþAm| ‘| dU©Z H$s{OE&

43. Explain, with examples, any three factors affecting the speed of winds. 1×3=3

ndZm| H$s J{V H$mo à^m{dV H$aZo dmbo {H$Ýht VrZ H$maH$m| H$s CXmhaUm| g{hV ì¶m»¶m H$s{OE&

44. Explain the importance of road transport in India in three points. 1×3=3

^maV ‘| g‹S>H$ n[adhZ Ho$ ‘hÎd H$mo VrZ {~ÝXþAm| ‘| ñnï> H$s{OE&

Or / AWdm

Explain the importance of water transport in India in three points.

^maV ‘| Ob n[adhZ Ho$ ‘hÎd H$mo VrZ {~ÝXþAm| ‘| ñnï> H$s{OE&
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45. “Only five States account for half of the urban population in India.” Justify
this statement with suitable arguments. 1×3=3

""^maV ‘| ehar OZg§»¶m H$m AmYm Ho$db nm±M amÁ¶m| ‘| h¡&'' Cn¶wº$ VH$m] Ûmam Bg H$WZ H$s nw{ï>
H$s{OE&

46. Explain, in five points, environmental sustainability as a pillar of the
Sustainable Development Goals. 1×5=5

gVV {dH$mg bú¶m| Ho$ ñV§^ Ho$ ê$n ‘| n¶m©daUr¶ pñWaVm H$s nm±M {~ÝXþAm| ‘| ì¶m»¶m H$s{OE&

Or / AWdm

Explain human sustainability as a pillar of Sustainable Development Goals
in five points.

gVV {dH$mg bú¶m| Ho$ ñV§^ Ho$ ê$n ‘| ‘mZd pñWaVm H$s nm±M {~ÝXþAm| ‘| ì¶m»¶m H$s{OE&



[V25—3100×3]
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


Roll No.

AZwH«$‘m§H$

OUTLINE MAP OF INDIA

^maV H$m aoIm-‘mZ{MÌ



Attach this map with your answer-book

Bg ‘mZ{MÌ H$mo AnZr CÎma-nwpñVH$m Ho$ gmW ZËWr H$a|

Map for Q. No. 36
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


Roll No.

AZwH«$‘m§H$

OUTLINE MAP OF INDIA (POLITICAL)

^maV H$m aoIm‘mZ{MÌ (amOZr{VH$)



Attach this map with your answer-book

Bg ‘mZ{MÌ H$mo AnZr CÎma-nwpñVH$m Ho$ gmW ZËWr H$a|

Map for Q. No. 37
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Roll No.

AZwH«$‘m§H$

Code No.

H$moS> Z§0
69/MAY/4

Set/goQ> w

General  Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question
Paper.

2. Please check the Question Paper to verify that the total pages and total
number of questions contained in the Question Paper are the same as those
printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. For the objective type of questions, you have to choose any one of the four
alternatives given in the question, i.e., (A), (B), (C) and (D) and indicate your
correct answer in the Answer-Book given to you.

4. Making any identification mark in the Answer-Book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the
candidate.

5. (a) The Question Paper is Bilingual, i.e., English and Hindi. However, if you
wish, you can answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada,
Telugu, Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali,
Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language chosen to answer in the box
provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
questions will be yours only.
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6. Candidate will not be allowed to take Calculator, Mobile Phone, Bluetooth,
Earphone or any such electronic devices in the Examination Hall.

7. In case of any doubt or confusion in the Question Paper, the English version
will prevail.

8. Write your Question Paper Code No. 69/MAY/4, Set w on the Answer-Book.

gm‘mÝ¶ AZwXoe …

1. narjmWu àíZ-nÌ Ho$ nhbo n¥ð> na AnZm AZwH«$‘m§H$ Adí¶ {bI|&

2. H¥$n¶m àíZ-nÌ H$mo Om±M b| {H$ àíZ-nÌ Ho$ Hw$b n¥ð>m| VWm àíZm| H$s CVZr hr g§»¶m h¡ {OVZr àW‘ n¥ð> Ho$
g~go D$na N>nr h¡& Bg ~mV H$s Om±M ^r H$a b| {H$ àíZ H«${‘H$ ê$n ‘| h¢&

3. dñVw{Zð> àíZm| _o§ AmnH$mo Mma {dH$ënm| (A), (B), (C) VWm (D) _| go H$moB© EH$ CÎma MwZZm h¡ VWm Xr JB©
CÎma-nwpñVH$m _| Amn ghr CÎma {bI|Ÿ&

4. CÎma-nwpñVH$m ‘| nhMmZ-{M• ~ZmZo AWdm {Z{X©ï> ñWmZm| Ho$ A{V[aº$ H$ht ̂ r AZwH«$‘m§H$ {bIZo na narjmWu H$mo
A¶mo½¶ R>ham¶m OmEJm&

5. (H$) n«íZ-nÌ Ho$db A§J«oOr/{hÝXr ‘mÜ¶‘ ‘| h¡& {’$a ^r, ¶{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$ ^mfm ‘|
CÎma Xo gH$Vo h¢ …

A§J«oOr, {hÝXr, CXÿ©, n§Om~r, ~§Jbm, V{‘b, ‘b¶mb‘, H$Þ‹S>, VobwJy, ‘amR>r, C{‹S>¶m, JwOamVr, H$m|H$Ur,
‘{Unwar, Ag{‘¶m, Zonmbr, H$í‘rar, g§ñH¥$V Am¡a {gÝYr&

H¥$n¶m CÎma-nwpñVH$m ‘| {XE JE ~m°³g ‘| {bI| {H$ Amn {H$g ^mfm ‘| CÎma {bI aho h¢&

(I) ¶{X Amn {hÝXr Ed§ A§J«oOr Ho$ A{V[aº$ {H$gr AÝ¶ ̂ mfm ‘| CÎma {bIVo h¢, Vmo àíZm| H$mo g‘PZo ‘| hmoZo dmbr
Ìw{Q>¶m|/Jb{V¶m| H$s {Oå‘oXmar Ho$db AmnH$s hmoJr&

6. narjmWu H$mo narjm hm°b ‘| H¡$ëHw$boQ>a, ‘mo~mBb ’$moZ, ãbyQy>W, B¶a’$moZ O¡go {H$gr ^r Bbo³Q´>m°{ZH$ CnH$aU H$mo
bo OmZo H$s AZw‘{V Zht h¡&

7. àíZ-nÌ ‘| {H$gr ^r àH$ma Ho$ g§Xoh AWdm Xþ{dYm H$s pñW{V ‘| A§J«oOr AZwdmX hr ‘mÝ¶ hmoJm&

8. AnZr CÎma-nwpñVH$m na àíZ-nÌ H$m H$moS> Z§0 69/MAY/4, goQ w {bI|&



316/MAY/208C 3 [ P.T.O.

GEOGRAPHY

^yJmob
(316)

Time : 3 Hours ] [ Maximum Marks : 80

g‘¶ … 3 KÊQ>o ] [ nyUmªH$ … 80

Note  : (i) This question paper consists of 46 questions in all.

(ii) All questions are compulsory.

(iii) Marks are given against each question.

(iv) (a) Question Nos. 1 to 16—Multiple choice-type questions (MCQs)
carrying 1 mark each. Select and write the most appropriate option
out of the four options given in each of these questions.

(b) Question Nos. 17 to 20—Objective-type map-based questions
carrying 1 mark each. Questions for visually impaired candidate in
lieu of Question Nos. 17–20 have been given. You have to attempt
only one of the given choices in such questions. Question Nos.
21 to 30—Objective-type questions carrying 2 marks each (with
2/4 sub-parts of 1 mark each). Attempt these questions as per the
instructions given for each of the questions 21–30.

(c) Question Nos. 31 to 40—Very short questions carrying 2 marks
each to be answered in the range of 30 to 50 words. Question Nos.
36 and 37 are map-based questions. Questions for visually
impaired candidate in lieu of Question Nos. 36 and 37 have been
given.

(d) Question Nos. 41 to 45—Short answer-type questions carrying
3 marks each to be answered in the range of 50 to 80 words.

(e) Question No. 46—Long answer-type question carrying 5 marks to be
answered in the range of 80 to 120 words.

{ZX}e … (i) Bg àíZ-nÌ ‘| Hw$b 46 àíZ h¢&

(ii) g^r àíZ A{Zdm¶© h¢&

(iii) àË¶oH$ àíZ Ho$ A§H$ Cg àíZ Ho$ gm‘Zo {XE JE h¢&
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(iv) (a) àíZ g§»¶m 1 go 16—~hþ{dH$ënr¶ àH$ma Ho$ àíZ (MCQs), Omo àË¶oH$ 1 A§H$ H$m h¡&
àË¶oH$ àíZ ‘| {XE JE Mma {dH$ënm| ‘| go g~go Cn¶wº$ {dH$ën H$m M¶Z H$a| Am¡a {bI|&

(b) àíZ g§»¶m 17 go 20—dñVw{Zð> àH$ma Ho$ ‘mZ{MÌ na AmYm[aV àíZ, Omo àË¶oH$ 1 A§H$ H$m
h¡& Ñ{ï>~m{YV narjm{W©¶m| Ho$ {bE àíZ g§»¶m 17 go 20 Ho$ ñWmZ na àíZ {XE JE h¢&
AmnH$mo Eogo àíZm| ‘| {XE JE {dH$ënm| ‘| go Ho$db EH$ H$m hr CÎma XoZm h¡& àíZ g§»¶m
21 go 30—dñVw{Zð àH$ma Ho$ àíZ, Omo àË¶oH$ 2 A§H$ H$m h¡ (1 A§H$ Ho$ 2/4 Cn^mJm| Ho$
gmW)& àË¶oH$ àíZ Ho$ {bE {XE JE {ZX}em| Ho$ AZwgma BZ àíZm| (21 go 30) Ho$ CÎma X|&

(c) àíZ g§»¶m 31 go 40—2 A§H$ Ho$ A{V bKyÎmar¶ àH$ma Ho$ àíZ, {OZHo$ CÎma 30 go 50

eãXm| ‘| XoZo h¢& àíZ g§»¶m 36 Ed§ 37 ‘mZ{MÌ na AmYm[aV àíZ h¢& Ñ{ï>~m{YV narjm{W©¶m|
Ho$ {bE àíZ g§»¶m 36 Ed§ 37 Ho$ ñWmZ na àíZ {XE JE h¢&

(d) àíZ g§»¶m 41 go 45—3 A§H$ Ho$ bKyÎmar¶ àH$ma Ho$ àíZ, {OZHo$ CÎma 50 go 80 eãXm|
‘| XoZo h¢&

(e) àíZ g§»¶m 46—5 A§H$ H$m XrK©-CÎmar¶ àH$ma H$m àíZ, {OgH$m CÎma 80 go 120 eãXm|
‘| XoZm h¡&

1. Which of the following seas has higher salinity than normal? 1

(A) Bering Sea (B) Baltic Sea

(C) Red Sea (D) Japan Sea

{ZåZ{b{IV ‘| go {H$g gmJa H$s bdUVm gm‘mÝ¶ go A{YH$ h¡?

(A) ~o[a¨J gmJa (B) ~mpëQ>H$ gmJa

(C) bmb gmJa (D) OmnmZ gmJa

(1) Answers of all questions are to be given in the Answer-Book given to you.

g^r àíZm| Ho$ CÎma AmnH$mo Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&
(2) 15 minutes time has been allotted to read this question paper. The

question paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30
p.m., the students will read the question paper only and will not write any
answer on the Answer-Book during this period.

Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {‘ZQ> H$m g‘¶ {X¶m J¶m h¡& àíZ-nÌ H$m {dVaU Xmonha ‘|
2:15 ~Oo {H$¶m OmEJm& 2:15 ~Oo go 2:30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a Bg Ad{Y
Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo&
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2. Choose the correct option related to the characteristics of polar winds. 1

(A) In the Northern Hemisphere, their direction is from West to North-East.

(B) These winds move from subpolar regions towards the poles.

(C) These are known as trade winds.

(D) These are extremely cold, dry and stable winds.

Y«wdr¶ ndZm| H$s {deofVmAm| go gå~pÝYV ghr {dH$ën H$m M¶Z H$s{OE&

(A) CÎmar JmobmY© ‘| BZH$s {Xem npíM‘ go CÎma-nyd© H$s Amoa hmoVr h¡&

(B) ¶o CnY«wdr¶ joÌm| go Y«wdm| H$s Amoa MbVr h¢&

(C) BÝh| ì¶mnm[aH$ ndZm| Ho$ Zm‘ go OmZm OmVm h¡&

(D) ¶o AË¶§V R>§S>r, ewîH$ VWm pñWa ndZ| hmoVr h¢&

3. Match Column—I with Column—II and choose the correct option : 1

Column—I Column—II

(a) Tropical hot and humid (i) Mediterranean

(b) Dry climate (ii) Monsoon

(c) Warm temperate (iii) Tundra

(d) Cold snow forest (iv) Steppes

(v) Taiga

Options :

(A) (a)—(ii), (b)—(iv), (c)—(i), (d)—(v)

(B) (a)—(ii), (b)—(iv), (c)—(v), (d)—(i)

(C) (a)—(iv), (b)—(ii), (c)—(iii), (d)—(v)

(D) (a)—(ii), (b)—(v), (c)—(i), (d)—(iii)
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H$m°b‘—I H$m {‘bmZ H$m°b‘—II go H$s{OE Am¡a ghr {dH$ën H$m M¶Z H$s{OE :

H$m°b‘—I H$m°b‘—II

(a) CîUH${Q>~§Yr¶ J‘© Am¡a AmÐ© (i) ^y‘Ü¶gmJar¶

(b) ewîH$ Obdm¶w (ii) ‘mZgyZr

(c) J‘© g‘erVmoîU (iii) Qw>§S´>m

(d) erV {h‘ g{hV dZr¶ (iv) ñQ>onr

(v) Q>¡Jm

{dH$ën :

(A) (a)—(ii), (b)—(iv), (c)—(i), (d)—(v)

(B) (a)—(ii), (b)—(iv), (c)—(v), (d)—(i)

(C) (a)—(iv), (b)—(ii), (c)—(iii), (d)—(v)

(D) (a)—(ii), (b)—(v), (c)—(i), (d)—(iii)

4. Choose the correct option related to the group of tributaries of Indus River. 1

(A) Kosi, Beas, Gandak (B) Jhelum, Beas, Sutlej

(C) Jhelum, Gandak, Ghaghra (D) Gandak, Ghaghra, Sutlej

qgYw ZXr H$s ghm¶H$ Z{X¶m| Ho$ g‘yh go gå~pÝYV ghr {dH$ën H$m M¶Z H$s{OE&

(A) H$mogr, ã¶mg, J§S>H$ (B) Pob‘, ã¶mg, gVbO

(C) Pob‘, J§S>H$, KmKam (D) J§S>H$, KmKam, gVbO

5. Which of the following factors does not affect the climate of India? 1

(A) Landform (B) Distance from sea

(C) Divergence of plates (D) Latitudinal position

{ZåZ{b{IV ‘| go H$m¡Z-gm H$maH$ ^maV H$s Obdm¶w H$mo à^m{dV Zht H$aVm h¡?

(A) ^y-AmH¥${V (B) g‘wÐ go Xÿar

(C) ßboQ>m| H$m {dMbZ (D) Ajm§er¶ pñW{V
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6. Two statements are given below as Assertion (A) and Reason (R). Read both
the statements carefully and choose the correct option : 1

Assertion (A) :

To pay tribute to the bravery of forest personnel, the Government of
India celebrates ‘Forest Martyrs Day’ on 11 September.

Reason (R) :

Awareness is an important measure for environmental protection.

(A) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(B) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(C) (A) is correct and (R) is incorrect

(D) (A) is incorrect and (R) is correct

ZrMo Xmo H$WZ {XE JE h¢& ¶o A{^H$WZ (A) Am¡a H$maU (R) h¢& XmoZm| H$WZm| H$mo Ü¶mZnyd©H$ n{‹T>E
Am¡a ghr {dH$ën H$m M¶Z H$s{OE :

A{^H$WZ (A) :

dZH${‘©¶m| Ho$ em¡¶© H$mo lÕm§O{b XoZo Ho$ {bE ^maV gaH$ma 11 {gVå~a H$mo "dZ ehrX {Xdg'
‘ZmVr h¡&

H$maU (R) :

n¶m©daU g§ajU Ho$ {bE OmJê$H$Vm EH$ ‘hÎdnyU© Cnm¶ h¡&

(A) XmoZm| (A) Am¡a (R) ghr h¢& bo{H$Z (R), (A) H$s ghr ì¶m»¶m Zht h¡

(B) XmoZm| (A) Am¡a (R) ghr h¢& Am¡a (R), (A) H$s ghr ì¶m»¶m h¡

(C) (A) ghr h¡ Am¡a (R) JbV h¡

(D) (A) JbV h¡ Am¡a (R) ghr h¡&

7. Which of the following rivers has the largest catchment area? 1

(A) Godavari (B) Krishna

(C) Kaveri (D) Narmada

{ZåZ{b{IV ‘| go {H$g ZXr H$m ObJ«hU joÌ g~go A{YH$ h¡?

(A) JmoXmdar (B) H¥$îUm

(C) H$mdoar (D) Z‘©Xm
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8. Read the following statements related to continental rise carefully and
choose the correct option : 1

I. It is the link between the continental slope and the abyssal plain.

II. Seafood is obtained entirely from the continental shelf.

III. It is a landform which formed in the oceans from sequences of
continental mass.

IV. The slope gradient of the continental rise is less than that of
continental slope.

(A) Only I, II and III are correct

(B) Only I, III and IV are correct

(C) Only I, II and IV are correct

(D) Only II, III and IV are correct

‘hmÛrnr¶ C^ma go gå~pÝYV {ZåZ{b{IV H$WZm| H$mo Ü¶mZnyd©H$ n{‹T>E Am¡a ghr {dH$ën H$m M¶Z
H$s{OE :

I. ¶h ‘hmÛrnr¶ T>mb Am¡a {dVb ‘¡XmZ Ho$ ~rM H$s H$‹S>r h¡&

II. g‘wÐr ^moOZ nyar Vah ‘hmÛrnr¶ Vb (eoë’$) go àmá hmoVm h¡&

III. ¶h ‘hmÛrnr¶ nXmWm] Ho$ AZwH«$‘m| go ‘hmgmJam| ‘| ~Zm {Zjo{nV ñWb ê$n h¡&

IV. ‘hmÛrnr¶ C^ma H$s T>mb àdUVm ‘hmÛrnr¶ T>mb H$s VwbZm ‘| H$‘ hmoVr h¡&

(A) Ho$db I, II Am¡a III ghr h¢

(B) Ho$db I, III Am¡a IV ghr h¢

(C) Ho$db I, II Am¡a IV ghr h¢

(D) Ho$db II, III Am¡a IV ghr h¢

9. Which of the following is the most important cause of soil erosion? Select
the most appropriate option. 1

(A) Transportation (B) Precipitation

(C) Condensation (D) Permeability
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{‘Å>r Ho$ H$Q>md H$m {ZåZ{b{IV ‘| go H$m¡Z-gm g~go à‘wI H$maU h¡? g~go Cn¶wº$ {dH$ën H$m
M¶Z H$s{OE&

(A) Andmh (B) df©U

(C) g§KZZ (D) nmaJå¶Vm

10. Hwang Ho Plain of China is an example of which type of plain? 1

(A) Eroded (B) Structural

(C) Depositional (D) Delta

MrZ H$m ˆm§J hmo ‘¡XmZ {H$g àH$ma Ho$ ‘¡XmZ H$m CXmhaU h¡?

(A) Ana{XV (B) g§aMZmË‘H$

(C) {ZjonUmË‘H$ (D) S>oëQ>mB©

11. Which of the following is an example of a continental plateau? 1

(A) Greenland plateau (B) Mexican plateau

(C) Bolivian plateau (D) Patagonia plateau

{ZåZ{b{IV ‘| go H$m¡Z-gm ‘hmÛrnr¶ nR>ma H$m EH$ CXmhaU h¡?

(A) J«rZb¢S> nR>ma (B) ‘op³gH$mo H$m nR>ma

(C) ~mobr{d¶m H$m nR>ma (D) noQ>mJmo{Z¶m H$m nR>ma

12. Which of the following is not a plantation crop? 1

(A) Cotton (B) Jute

(C) Sugarcane (D) Mustard

{ZåZ{b{IV ‘| go H$m¡Z-gr EH$ amonU ’$gb Zht h¡?

(A) H$nmg (B) OyQ>

(C) JÞm (D) gagm|

13. Which of the following minerals is called liquid gold? 1

(A) Bauxite (B) Petroleum

(C) Coal (D) Mica
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{ZåZ{b{IV ‘| go {H$g I{ZO H$mo Vab gmoZm H$hm OmVm h¡?

(A) ~m°³gmBQ> (B) noQ´>mo{b¶‘

(C) H$mo¶bm (D) A^«H$

14. Kandla Port is located in which of the following States? 1

(A) Gujarat (B) Karnataka

(C) Maharashtra (D) Tamil Nadu

H$m§S>bm ~§XaJmh {ZåZ{b{IV ‘| go {H$g amÁ¶ ‘| pñWV h¡?

(A) JwOamV (B) H$Zm©Q>H$

(C) ‘hmamï´> (D) V{‘bZmSw>>

15. Which of the following States secured the highest rank in providing quality

of education? 1

(A) Jharkhand (B) West Bengal

(C) Kerala (D) Odisha

{ZåZ{b{IV ‘| go {H$g amÁ¶ Zo {ejm H$s JwUdÎmm àXmZ H$aZo ‘| gdm}ƒ ñWmZ àmá {H$¶m h¡?

(A) PmaI§S> (B) npíM‘ ~§Jmb

(C) Ho$ab (D) Amo{S>em

16. Hindi language belongs to which of the following language families? 1

(A) Austric (B) Sino-Tibetan

(C) Dravidian (D) Indo-Aryan

{hÝXr ^mfm H$m gå~ÝY {ZåZ{b{IV ‘| go {H$g ^mfm n[adma go h¡?

(A) Am°pñQ´>H$ (B) MrZr-{Vã~Vr

(C) Ð{d‹S> (D) B§S>mo-Am¶©Z
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Note : Study the given map carefully and answer the map-based questions

(Question Nos. 17, 18, 19 and 20) :

{ZX}e : {XE JE ‘mZ{MÌ H$m Ü¶mZnyd©H$ AÜ¶¶Z H$s{OE Am¡a ‘mZ{MÌ na AmYm[aV àíZ g§»¶m 17, 18,

19 Ed§ 20 Ho$ CÎma Xr{OE :

17. Identify the major mountain marked ‘A’ on the map. 1

(A) Rocky (B) Ural

(C) Andes (D) Atlas
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‘mZ{MÌ na A§{H$V ‘A’ à‘wI nd©V H$s nhMmZ H$s{OE&

(A) am°H$s (B) ¶yamb

(C) E§S>rO (D) EQ>bg

18. Identify the warm water current marked ‘B’ on the map. 1

(A) Norway (B) Alaska

(C) Agulhas (D) Gulf stream

‘mZ{MÌ na A§{H$V ‘B’ J‘© ObYmam H$s nhMmZ H$s{OE&

(A) Zm°d} (B) AbmñH$m

(C) AJwëhmg (D) Jë’$ ñQ´>r‘

19. Identify the evergreen rain forest biome marked ‘C’ on the map. 1

(A) Nile Basin (B) Congo Basin

(C) Volga Region (D) Amazon Region

‘mZ{MÌ na A§{H$V ‘C’ gXm~hma dfm©dZ Ordmo‘ H$s nhMmZ H$s{OE&

(A) Zrb ~o{gZ (B) H$m§Jmo ~o{gZ

(C) dmoëJm joÌ (D) A‘oµOZ joÌ

20. Identify the temperate grassland biome marked ‘D’ on the map. 1

(A) Velds (B) Pampas

(C) Downs (D) Prairies

‘mZ{MÌ na A§{H$V ‘D’ g‘erVmoîU Kmg ‘¡XmZ Ordmo‘ H$s nhMmZ H$s{OE&

(A) doëS²>g (B) n§nmg

(C) S>mCÝg (D) ào¶arO



316/MAY/208C 13 [ P.T.O.

Note : The following questions are for Visually Impaired Candidates in lieu of

Question Nos. 17, 18, 19 and 20.

{ZX}e : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©¶m| Ho$ {bE àíZ g§»¶m 17, 18, 19 Am¡a 20 Ho$

ñWmZ na h¢&

17. Which of the following mountains is located in Europe? 1

(A) Rocky (B) Ural

(C) Andes (D) Atlas

{ZåZ{b{IV ‘| go H$m¡Z-gm nd©V ¶yamon ‘| pñWV h¡?

(A) am°H$s (B) ¶yamb

(C) E§S>rO (D) EQ>bg

18. Which of the following is the warm water current of the Indian Ocean? 1

(A) Norway (B) Alaska

(C) Agulhas (D) Gulf Stream

{ZåZ{b{IV ‘| go H$m¡Z-gr {hÝX ‘hmgmJa H$s J‘© ObYmam h¡?

(A) Zm°d} (B) AbmñH$m

(C) AJwëhmg (D) Jë’$ ñQ´>r‘>

19. Which of the following is the South American evergreen rain forest biome? 1

(A) Nile Basin (B) Congo Basin

(C) Volga Region (D) Amazon Region

{ZåZ{b{IV ‘| go H$m¡Z-gm X{jU A‘o[aH$m H$m gXm~hma dfm©dZ Ordmo‘ h¡?

(A) Zrb ~o{gZ (B) H$m§Jmo ~o{gZ

(C) dmoëJm joÌ (D) A‘oµOZ joÌ

20. Which of the following temperate grasslands is located in Africa? 1

(A) Steppes (B) Downs

(C) Velds (D) Pampas

{ZåZ{b{IV ‘| go H$m¡Z-gm g‘erVmoîU Kmg ‘¡XmZ A’«$sH$m ‘| pñWV h¡?

(A) ñQ>onrµO (B) S>mC§g

(C) doëS²>g (D) n§nmg
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21. Read the given paragraph carefully and answer the following questions
in 1 or 2 word(s) each : 1×2=2

Aquatic Ecosystem

On the ocean surface, shallow continental shelves are more productive

than other configurations of ocean floor and open oceans. Open oceans are

the least productive of all aquatic ecosystems. They are like the deserts in

the terrestrial ecosystem. Some of the organisms exclusively live in water

whereas some of the organisms can live in water and on land, i.e., frogs,

crocodiles, hippopotamus, etc. Moreover, some organisms live either in

freshwater or saline water and some others live in freshwater and saline

water both.

(a) Which oceans are less productive?

(b) Write the names of any two organisms which can live both in water
and on land.

{XE JE AZwÀN>oX H$mo Ü¶mZnyd©H$ n{‹T>E Am¡a {ZåZ{b{IV àíZm| Ho$ CÎma 1 ¶m 2 eãXm| ‘| Xr{OE :

Obr¶ nm[apñW{VH$s V§Ì

‘hmgmJar¶ Vb Ho$ CWbo ‘hmÛrnr¶ Vb, gmJam| Ho$ AÝ¶ {dÝ¶mgm| VWm Iwbo g‘wÐ go A{YH$ CËnmXH$

hmoVo h¢& Iwbo gmJa g^r Obr¶ nm[apñW{VH$s V§Ìm| ‘| go g~go H$‘ CËnmXH$ hmoVo h¢& ¶h Eogm hr h¡

O¡go ñWbr¶ nm[apñW{VH$s V§Ì ‘| ‘éñWb hmoVm h¡& Hw$N> Ord Ho$db Ob ‘| hr ah gH$Vo h¢ na§Vw Hw$N>

AÝ¶ Ord Ob Am¡a ñWb XmoZm| ‘| ah gH$Vo h¢, O¡go ‘oT>H$, ‘Ja‘ÀN>, {hßnmonmoQ>m‘g BË¶m{X& BgHo$

A{V[aº$ Hw$N> Ord Ho$db VmOo nmZr AWdm Imao nmZr ‘| hr Or{dV ah gH$Vo h¢ O~{H$ Hw$N> AÝ¶

Ord VmOo nmZr Am¡a Imao nmZr, XmoZm| ‘| hr Or{dV ah gH$Vo h¢&

(H$) H$m¡Z-go gmJa H$‘ CËnmXH$ hmoVo h¢?

(I) {H$Ýht Xmo Ordm| Ho$ Zm‘ {b{IE Omo Ob Ed§ ñWb XmoZm| ‘| ah gH$Vo h¢&

22. Answer the following questions by filling in the blanks with appropriate
words : 1×2=2

(a) Important landforms like _____ are formed by deposition by wind.

(b) The process of removing, lifting and blowing dry and loose particles
of sand and dust by wind is called _____.
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{ZåZ{b{IV àíZm| Ho$ CÎma Cn¶wº$ eãXm| Ûmam [aº$ ñWmZm| H$s ny{V© H$aHo$ Xr{OE :

(H$)  _____ O¡gr ‘hÎdnyU© ñWbmH¥${V¶m± ndZ Ûmam {ZjonU go ~ZVr h¢&

(I) ndZ Ûmam aoV Am¡a Yyb Ho$ gyIo Am¡a T>rbo H$Um| H$mo hQ>mZo, CR>mZo Am¡a C‹S>mZo H$s à{H«$¶m
_____ H$hbmVr h¡&

23. Match Column—I correctly with Column—II : ½×4=2

Column—I Column—II

(States) (Capital)

(a) Tripura (i) Panaji

(b) Sikkim (ii) Chandigarh

(c) Goa (iii) Itanagar

(d) Punjab (iv) Agartala

(v) Gangtok

H$m°b‘—I H$m ghr {‘bmZ H$m°b‘—II go H$s{OE :

H$m°b‘—I H$m°b‘—II

(amÁ¶) (amOYmZr)

(a) {Ìnwam (i) nUOr

(b) {g{¸$‘ (ii) M§S>rJ‹T>

(c) Jmodm (iii) B©Q>mZJa

(d) n§Om~ (iv) AJaVbm

(v) J¢JQ>moH$
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24. Answer the following questions by filling in the blanks with appropriate
words : 1×2=2

(a) Mangroves are practically _____ forests which have leathery leaves.

(b) Areas with annual rainfall less than 75 cm are characterized by
natural vegetation of _____ and shrubs.

{ZåZ{b{IV àíZm| Ho$ CÎma Cn¶wº$ eãXm| Ûmam [aº$ ñWmZm| H$s ny{V© H$aHo$ Xr{OE :

(H$) ‘¢J«mod ì¶mdhm[aH$ ê$n go _____ dZ hmoVo h¢ {OZ‘| Mr‘‹S> nÎmo hmoVo h¢&

(I)  75 go0‘r0 go H$‘ dm{f©H$ dfm© dmbo joÌm| H$s {deofVm _____ Am¡a Pm{‹S>¶m| H$s àmH¥${VH$
dZñn{V hmoVr h¡&

25. Answer the following questions in 1 or 2 word(s) each : 1×2=2

(a) Oceanography is a sub-branch of which branch of geography?

(b) Write the names of two major geographers who are considered as the
founders of modern geography.

{ZåZ{b{IV àíZm| Ho$ 1 ¶m 2 eãXm| ‘| CÎma Xr{OE :

(H$) g‘wÐ{dkmZ ^yJmob H$s {H$g emIm H$s CnemIm h¡?

(I) Xmo à‘wI ^yJmobdoÎmmAm| Ho$ Zm‘ {b{IE, {OÝh| AmYw{ZH$ ^yJmob H$m g§ñWmnH$ ‘mZm OmVm h¡&

26. Match Column—I correctly with Column—II : ½×4=2

Column—I Column—II

(Terms) (When does it happen)

(a) Perigee (i) The earth is closest to the sun

(b) Apogee (ii) Equal distance between the sun, moon and earth

(c) Perihelion (iii) The moon’s orbit is farthest from the earth

(d) Aphelion (iv) Moon’s orbit is closest to the earth

(v) The earth is further away from the sun



316/MAY/208C 17 [ P.T.O.

H$m°b‘—I H$m ghr {‘bmZ H$m°b‘—II go H$s{OE :

H$m°b‘—I H$m°b‘—II

(nm[a^m{fH$ eãX) (¶h H$~ hmoVm h¡)

(a) Cn^y (no[aOr) (i) n¥Ïdr gy¶© go g~go {ZH$Q> h¡

(b) An^y (AnmoOr) (ii) gy¶©, MÝÐ‘m Am¡a n¥Ïdr Ho$ ~rM g‘mZ Xÿar

(c) Cngm¡a (iii) MÝÐ‘m H$s H$jm n¥Ïdr go g~go A{YH$ Xÿa h¡

(d) Angm¡a (iv) MÝÐ‘m H$s H$jm n¥Ïdr go g~go {ZH$Q> h¡

(v) n¥Ïdr gy¶© go A{YH$ Xÿa h¡

27. Answer the following questions in 1 or 2 word(s) : 1×2=2

(a) The subtropical high-pressure belt is located in the Northern and
Southern Hemispheres between which latitudes?

(b) At which latitude is the subpolar low-pressure belt located in the
Northern and Southern Hemispheres?

{ZåZ{b{IV àíZm| Ho$ CÎma 1 ¶m 2 eãXm| ‘| Xr{OE :

(H$) CnmoîUH${Q>~§Yr¶ Cƒ-Xm~ noQ>r CÎmar Ed§ X{jUr JmobmYm] ‘| {H$Z Ajm§em| Ho$ ‘Ü¶ pñWV h¡?

(I) CnY«wdr¶ {ZåZ-Xm~ noQ>r CÎmar Ed§ X{jUr JmobmYm] ‘| {H$g Ajm§e na pñWV h¡?

28. Answer the following questions in 1 or 2 word(s) each : 1×2=2

(a) Mention the main development goals of the mercantilism era.

(b) Mention the main development goal of Brundtland Commission.

{ZåZ{b{IV àíZm| Ho$ CÎma 1 ¶m 2 eãXm| ‘| Xr{OE :

(H$) dm{UÁ¶dmX ¶wJ Ho$ à‘wI {dH$mg bú¶m| H$m C„oI H$s{OE&

(I) ~«§Q>b¢S> Am¶moJ Ho$ à‘wI {dH$mg bú¶ H$m C„oI H$s{OE&
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29. Read the given paragraph carefully and answer the questions that follow
in 1 or 2 word(s) each : 1×2=2

Sex Ratio

Sex ratio refers to the number of females per thousand males of an area.

According to the Census of India 2011, there were only 943 females per

thousand males. So sex composition in India is unfavourable. It means

there are less number of females than the number of males. When the

number of females is more than the males, it is said to be favourable. If

we analyze the data over a period of 100 years (1911–2011), it has been

observed that there has been steady decline of sex ratio in the country

except some marginal increases in the 1951, 1981, 2001 and now in 2011.

(a) Define sex ratio.

(b) Define the term ‘favourable sex ratio’.

{XE JE AZwÀN>oX H$mo Ü¶mZnyd©H$ n{‹T>E Am¡a {ZåZ{b{IV àíZm| Ho$ CÎma 1 ¶m 2 eãXm| ‘| Xr{OE :

qbJmZwnmV

qbJmZwnmV H$m AW© {H$gr joÌ Ho$ à{V hOma nwéfm| Ho$ ‘wH$m~bo {ó¶m| H$s g§»¶m h¡& 2011 H$s ^maV

H$s OZJUZm Ho$ AZwgma, à{V hOma nwéfm| Ho$ ‘wH$m~bo {ó¶m| H$s g§»¶m ‘mÌ 943 Wr& AV… ^maV

‘| qbJmZwnmV AZwHy$b Zht h¡& BgH$m AW© h¡ nwéfm| Ho$ ‘wH$m~bo {ó¶m| H$s g§»¶m H$m H$‘ hmoZm& O~

nwéfm| Ho$ ‘wH$m~bo {ó¶m| H$s g§»¶m A{YH$ hmoVr h¡, Vmo Bgo AZwHy$b H$hm OmVm h¡& ¶{X h‘ {nN>bo

100 dfm] (1911–2011) Ho$ Am±H$‹S>m| H$m {díbofU H$a|, Vmo ¶h XoIm J¶m h¡ {H$ Xoe ‘| qbJmZwnmV

{Za§Va KQ>Vm ahm h¡ {gdm¶ df© 1951, 1981, 2001 Am¡a A~ 2011 ‘| hþB© Hw$N> d¥{Õ¶m| Ho$&

(H$) qbJmZwnmV H$mo n[a^m{fV H$s{OE&

(I) "AZwHy$b qbJ AZwnmV' H$mo n[a^m{fV H$s{OE&

30. Answer the following questions in 1 or 2 word(s) : 1×2=2

(a) According to 2011 Census, what is the percentage of total rural
population in India?

(b) Which State of India has the highest sex ratio?

{ZåZ{b{IV àíZm| Ho$ CÎma 1 ¶m 2 eãXm| ‘| Xr{OE :

(H$) 2011 H$s OZJUZm Ho$ AZwgma, ^maV ‘| Hw$b J«m‘rU OZg§»¶m {H$VZr à{VeV h¡?

(I) ^maV Ho$ {H$g amÁ¶ H$m qbJmZwnmV gdm©{YH$ h¡?
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31. Explain two main characteristics of the Indian desert. 1×2=2

^maVr¶ ao{JñVmZ H$s Xmo à‘wI {deofVmAm| H$mo ñnï> H$s{OE&

32. Explain two main features of Purvanchal Hills in India. 1×2=2

^maV ‘| nydmªMb nhm{‹S>¶m| H$s Xmo à‘wI {deofVmAm| H$mo ñnï> H$s{OE&

33. Explain two major features of the north-central part of the Great Northern
Plain in India. 1×2=2

^maV ‘| {demb CÎmar ‘¡XmZ Ho$ CÎma-‘Ü¶ ^mJ H$s Xmo à‘wI {deofVmAm| H$mo ñnï> H$s{OE&

34. Describe two major ways of conserving biodiversity. 1×2=2

O¡d {d{dYVm Ho$ g§ajU Ho$ Xmo à‘wI VarH$m| H$m dU©Z H$s{OE&

35. Explain the process of weathering. 2

Anj¶ H$s à{H«$¶m H$mo ñnï> H$s{OE&

36. On the given Outline Map of India (shown in Page No. 25), mark and
label the following : 1×2=2

n¥ð> g§»¶m 25 ‘| {XE JE ^maV Ho$ aoIm-‘mZ{MÌ ‘| {ZåZ{b{IV H$mo Cn¶wº$ {M•m| go A§{H$V H$s{OE
Am¡a CZHo$ Zm‘ {b{IE :

(a) The southernmost mountain range of the Himalayas

{h‘mb¶ H$s g~go X{jUr nd©V loUr

(b) The highest peak of Karakoram

H$amH$moa‘ H$s g~go D±$Mr MmoQ>r

Note : The following questions are for Visually Impaired Candidates only in lieu
of Question No. 36.

(a) Write the name of the southernmost mountain range of the
Himalayas.

(b) Write the name of the highest peak of Karakoram.

{ZX}e : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©¶m| Ho$ {bE àíZ g§»¶m 36 Ho$ ñWmZ na h¢&

(H$) {h‘mb¶ H$s g~go X{jUr nd©V loUr H$m Zm‘ {b{IE&

(I) H$amH$moa‘ H$s g~go D±$Mr MmoQ>r H$m Zm‘ {b{IE&
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37. On the given Political Outline Map of India (shown in Page No. 27), mark
the following with appropriate symbols and write their names : 1×2=2

n¥ð> g§»¶m 27 ‘| {XE JE ^maV Ho$ amOZr{VH$ aoIm-‘mZ{MÌ na {ZåZ{b{IV H$mo A§{H$V H$s{OE Am¡a
CZHo$ Zm‘ {b{IE :

(a) Leading State in coffee production

H$m°’$s CËnmXZ ‘| AJ«Ur amÁ¶

(b) An oil refinery located in Bihar

{~hma pñWV EH$ VobemoYZ H$maImZm

Note : The following questions are for Visually Impaired Candidates only in lieu
of Question No. 37.

(a) Write the name of the leading State in coffee production.

(b) Write the name of the place where an oil refinery is located
in Bihar.

{ZX}e : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©¶m| Ho$ {bE àíZ g§»¶m 37 Ho$ ñWmZ na h¢&

(H$) H$m°’$s CËnmXZ ‘| AJ«Ur amÁ¶ H$m Zm‘ {b{IE&

(I) Cg ñWmZ H$m Zm‘ {b{IE Ohm± {~hma ‘| EH$ VobemoYZ H$maImZm pñWV h¡&

38. Explain the importance of ‘Operation Flood’ in two points. 1×2=2

"Am°naoeZ âbS>' Ho$ ‘hÎd H$mo Xmo {~ÝXþAm| ‘| ñnï> H$s{OE&

39. “Water is the most precious gift of nature.” Explain the statement with
any two arguments. 1×2=2

""Ob àH¥${V H$m g~go AZ‘mob Cnhma h¡&'' {H$Ýht Xmo VH$m] Ûmam Bg H$WZ H$s ì¶m»¶m H$s{OE&
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40. Answer the following questions on the basis of the given map : 1×2=2

(a) Identify the State which has the largest number of wildlife
sancturies.

(b) Identify the Union Territory which has the maximum number of
wildlife sancturies.
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{XE JE ‘mZ{MÌ Ho$ AmYma na {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE :

(H$) Cg amÁ¶ H$s nhMmZ H$s{OE {Og‘| g~go A{YH$ dÝ¶Ord A^¶maÊ¶ h¢&

(I) Cg Ho$ÝÐem{gV àXoe H$s nhMmZ H$s{OE {Og‘| g~go A{YH$ dÝ¶Ord A^¶maÊ¶ h¢&
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Note : The following questions are for Visually Impaired Candidates only in lieu
of Question No. 40.

(a) Name the State which has the maximum number of wildlife
sanctuaries.

(b) Write the name of the Union Territory which has the maximum
number of wildlife sanctuaries.

{ZX}e : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©¶m| Ho$ {bE àíZ g§»¶m 40 Ho$ ñWmZ na h¢&

(H$) Cg amÁ¶ H$m Zm‘ {b{IE {Og‘| g~go A{YH$ dÝ¶Ord A^¶maÊ¶ h¢&

(I) Cg Ho$ÝÐem{gV àXoe H$m Zm‘ {b{IE {Og‘| g~go A{YH$ dÝ¶Ord A^¶maÊ¶ h¢&

41. Explain the difference between land breeze and sea breeze in three points.
1×3=3

ñWb g‘ra Am¡a g‘wÐr g‘ra ‘| A§Va H$s VrZ {~ÝXþAm| ‘| ì¶m»¶m H$s{OE&

Or / AWdm

Explain the relationship between mountain breeze and valley breeze in
three points.

nd©V g‘ra VWm KmQ>r g‘ra Ho$ ~rM g§~§Y H$s VrZ {~ÝXþAm| ‘| ì¶m»¶m H$s{OE&

42. Describe the importance of mountains in the world in three points. 1×3=3

{díd ‘| nd©Vmo| Ho$ ‘hÎd H$m VrZ {~ÝXþAm| ‘| dU©Z H$s{OE&

43. “Forests and deserts arise on earth due to climate.” Justify this statement
by giving three arguments. 1×3=3

""Obdm¶w Ho$ H$maU n¥Ïdr na O§Jb Am¡a ‘éñWb CËnÞ hmoVo h¢&'' VrZ VH©$ XoH$a Bg H$WZ H$s
nw{ï> H$s{OE&

44. Explain the importance of road transport in India in three points. 1×3=3

^maV ‘| g‹S>H$ n[adhZ Ho$ ‘hÎd H$mo VrZ {~ÝXþAm| ‘| ñnï> H$s{OE&

Or / AWdm

Explain the importance of water transport in India in three points.

^maV ‘| Ob n[adhZ Ho$ ‘hÎd H$mo VrZ {~ÝXþAm| ‘| ñnï> H$s{OE&
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45. “India has linguistic diversity just like its physical environment.” Justify
this statement by giving three arguments. 1×3=3

""^maV ‘| ^m¡{VH$ n¶m©daU H$s ^m±{V ^mfr¶ {d{dYVm ^r h¡&'' VrZ VH©$ XoH$a Bg H$WZ H$s nw{ï> H$s{OE&

46. Explain the five main objectives of the Earth Summit in 1992. 1×5=5

1992 ‘| n¥Ïdr {eIa gå‘obZ Ho$ nm±M à‘wI CÔoí¶m| H$mo ñnï> H$s{OE&

Or / AWdm

Explain the five main objectives of the ‘Millennium Development Goals’.

"ghòmãXr {dH$mg bú¶' Ho$ nm±M à‘wI CÔoí¶m| H$mo ñnï> H$s{OE&



[V25—3100×3]
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


Roll No.

AZwH«$‘m§H$

OUTLINE MAP OF INDIA

^maV H$m aoIm-‘mZ{MÌ



Attach this map with your answer-book

Bg ‘mZ{MÌ H$mo AnZr CÎma-nwpñVH$m Ho$ gmW ZËWr H$a|

Map for Q. No. 36
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


Roll No.

AZwH«$‘m§H$

OUTLINE MAP OF INDIA (POLITICAL)

^maV H$m aoIm‘mZ{MÌ (amOZr{VH$)



Attach this map with your answer-book

Bg ‘mZ{MÌ H$mo AnZr CÎma-nwpñVH$m Ho$ gmW ZËWr H$a|

Map for Q. No. 37
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